


Equipment

General information

Hydraulic cylinders
* Single acting

* Double acting

Formulas and description Symbol

Basic equations (static, without any loss)

Q-= v F: force
t -
Vs R p: pressure
A: area
F=pA
= Q: flow
P s v:  speed
Q= A-v V: volume
v - %E’. & time
- = s: travel (stroke)
V=T M: torque
d: piston diameter (mm)
A = .E 2 P
ine}= 9" (tmmil A: piston area (mm?) A v.Fs
. [."_‘] s [mm] Fs: force (N) } W;]
s "~ 1000t [s] pg: operating pressure (bar) 'l 7
& i 54 A 5 v: piston speed (.’L'.) -
s [N] =-0.1- pg [bar] - A [mm?] Q. inflow (Ipm) s Qin
-10 F¢ [N] 2 trok
pe [bar] = s s s‘ro e (mm)
Aq [mm2] t:  time (S)
Q, lpm] = 0.06 - A [mm?2] - v [%]
"
Extending
Basic equations (balance of forces): Py 7; dz A2
X
Ay = r d,? = 0.78d,? Simplified:
: ¢ ) pa [bar] - Az (mm?2] - 10F [N] a1 k o
T (2 2 3 ‘A3 - T T -
Ay == \d°-d py [bar] =
3 2 o 2 A, (mm2) t Ax ‘ F
P1-Ay=p3-Ag—F & &
1 - pq [bar] - A; [MmZ] + p, [bar] - Az [mm?2] in out
pr=o-(ps-A3-F)  FINI=
Ay 10
- pa is the result of back pressure from pipes and valves for Q,,
i Attention: Pressure intensification could occur!
QOU! B Aa Vv
Retracting

Basic equations (balance of forces):

PiAy =Pa-Ag+F Simplified: ;1:

1
By BrATE) L mane Pulbed - 10F Y ' ' o
‘ Ag [mm?] ‘ F
Qn = Az -V Qout Q,
g g = P1ar] - Ay [mm?] - ps [bar] - Ay [mm?)
QW‘ B A1 -V [ ] - 1
0
p; result of back pressure from pipes and valves for Q.
Ay:  piston area (mm?2) Q,y: inflow (Ipm)
Ag: rod side area (mm?) Ogyt: outflow (Ipm)
dy:  piston @ (mm) pPy:  pressure, piston side (bar)
dy: rod @ (mm) pa: pressure, rod side (bar)
F:  force (N) S: stroke, travel (mm)
Conversion table
Nomenclature Codings Unit - Factor x Unit
Pressure P 1 _N; . 10 bar
1 MPa L 10 bar
kgt £ 1 bar
" —
om
1 psi - 0.07 bar
Forceo 2 B o - 1 N
<



©*  INDEX

i THREADED BODY HEXAGON MOUNTING CYLINDER 05 0101
2 THREADED BODY MANIFOLD MOUNTING CYLINDER 06 0102
3 COMPACT CYLINDER 07 0103
4 PULLER CYLINDER 08 0105
5 BLOCK CYLINDER 09 0105
6 LINEAR CYLINDER, FLANGE MOUNTING 11 0106
7 WORK SUPPORT, THREADED BODY, MANIFOLD MOUNT, 14 0201
HYDRAULIC ADVANCE
8 WORK SUPPORT, THREADED BODY, MANIFOLD MOUNT, 16 0201-E
SPRING ADVANCE
9 WORK SUPPORT, FLANGE MOUNT, HYDRAULIC ADVANCE 17 0203
10 WORK SUPPORT, FLANGE MOUNT, HYDRAULIC ADVANCE 19 0203-E
11 SWING CYLINDER, TOP FLANGE MOUNTING 21 0301
12 SWING CYLINDER, TOP FLANGE MOUNTING,P-TYPE 23 0301-P
13 SWING CYLINDER, BOTTOM FLANGE MOUNTING 25 0302
14 SWING CYLINDER, BOTTOM FLANGE MOUNTING, P-TYPE 27 0302-P
15 SWING CYLINDER, TOP FLANGE MOUNTING, SINGLE 29 0303
ACTING, SPRING RETURN
16 COMPACT LINK CLAMP, DOUBLE ACTING 31 0402
17 LINK CLAMP, SINGLE ACTING, SPRING RETURN 33 0403
18 LINK CLAMP, HIGH FORCE, POSITIVE LOCK 35 0407
19 LINK CLAMP WITH SENSING 36 0408
20 SEQUENCE VALVE 37 0501

21 DOUBLE PILOT CHECK VALVE 38 0601




22

23

24

25

26

27

28

29

31

32

33

34

35

37

38

39

40

41

42

43

ﬂ

(LASVS

FLOW CONTROL VALVE, BSP PORT THREAD
ROTARY JOINT

COLLET VICE

TIE ROD CYLINDER

DIE CLAMP CYLINDER

BALL LOCK MECHANISM — SMED, MECHANICAL
PULL DOWN CYLINDER

PALLET DISCONNECTOR

PRESSURE REDUCING VALVE

HOLE CLAMP CYLINDER

BORE CLAMP CYLINDER

SIDE CLAMP CYLINDER

CENTERING VICE

AUTO COUPLER, HYDRAULIC

WORK SUPPORT, THREADED BODY, PNEUMATIC

SWING CYLINDER, TOP FLANGE, PNEUMATIC

SWING CYLINDER, TOP FLANGE, P-TYPE ,PNEU
SWING CYLINDER, BOTTOM FLANGE, PNEUMATIC

SWING CYLIDNER, BOTTOM FLANGE, P-TYPE, PNE

LINK CLAMP, COMPACT, PNEUMATIC
HYDRAULIC POWER PACK

QUICK RELEASE COUPLER, HYDRAULIC

INDEX

39

43

47

48

49

51

52

53

57

61

63

64

67

70

71

0701
0801
0901
1001
1101
1201
1301
1401
1501
1601
1701
1801
1901
2000
0211
0311
0312
0311-P
0312-P
0412
PP

QRC




DESIGNATION PRODUCT CODE

THREADED BODY CYLINDER 0101
Hydraulic (Manifold Mounting)

i D -
- r
= = (/)
1 | !
< ]|
n ‘ RN
T i,l ==
o o
| [ |
DESCRIPTION : D1
Compact design il
Space saving mounting M
Male & Female threaded piston ends |
Cylinders are threaded directly into ams
manifold
Pushing,Pulling,Ejection & Riveting
operations
Min. Operating Pressure : 0.5 MPa
Max.Operating Pressure : 20 Mpa
Model. 0101-0101(0101-0102{0101-0201|0101-0202(0101-0301/0101-0302|0101-0401(0101-0402|0101-0501(0101-0502
Rod dia.D. mm 6 8 10 12 16
Piston dia.D1mm 10 12 16 20 25
Stroke - S. mm 4 | 8 4 | 8 6 |10 8 | 1 2 | 16
M mm M16x1.5 M20x1.5 M24x1.5 M30x1.5 M36x1.5
L1 mm 12 12 14 18 21
L2 mm 19 23 19 23 21 25 27 31 33 37
L3 mm 3 3 3 3 3 3 3 3 3 3
L4 mm 22 26 22 26 24 28 30 34 36 40
L5 mm 34 38 34 38 38 42 48 52 57 61
AF mm 19 24 27 36 41
ad mm 22 28 32 42 48
L6 mm 14 14 16 23 23
atnobg e N.
_faoﬂrv‘fglrg?mke. cc
Application :
ad
Copper washer. ﬁ‘ ﬁ M s
[ i - v
/ L i i 7 Ll : : Y .\ " V
WV AT /T ©
7;I——L T T TS
/ | / \
P// =/ -z A 20
ORDERING METHOD. ‘ \ﬂ‘_ _} _/ X He
PRODUCT CODE-MODEL NO. =7 7 7 77 77/ 7]

Eg. 0101-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
THREADED BODY CYLINDER 0102
Hydraulic (Manifold Mounting)

Stroke

T
L

DESCRIPTION :

Compact design

Space saving mounting

Male & Female threaded piston ends

Cylinders are threaded directly into

manifold

Spring Return Type Cylinder T — B
A

T+0.1

APPLICATION :

* Can be used for direct clamping
as well as positioning & support

* Threaded body eases installation |

o o s s e s

minU~maxU

Max H

Size & Mounting Details :

Model code 0102 0101 0102 0201 0102 0301 0102 0401 0102 0501 0102 0601 0102 0701 0102 0801 0102 0901

S M L S M L S M L S M L S M L S M L S M L S M L |S M L

A (Nominal sizex pitch) M16 x 1.5 M22x1.5 M24x1.5 M30x1.5 M36x1.5 M45x1.5 M55x2 M65x2 M80x2
B 14.3 20.3 22.3 28.3 34.3 433 52.6 62.6 77.6
c 7.5 11.2 13 17 19 28 34.5 42 52
D 8 12 14 18 22.4 30 35.5 45 55
E 16.0 712 24.5 30 35.5 45 55 66 80
F 40.5| 44.5|50.535 |43 |56 |39.5| 47 |63.5|43.5|52.5/72 (51 |64 [85 |59 |72 |94.5| 64 [79.5|102 | 78 | 94 [123.5 88 | 106 [137
G 18.0|24.0/33.0|13 |21 |34 |17.5| 25 |41.5|18 |27 |46.5|23.5|36.5|57.5| 23 | 36 |58.5| 27 |42.5|65 | 35 | 51 |80.5/42 |60 [o1
H 6 8 8 9 10 12 12 13 13
] 5 7 7 8 8 12 12 14 14
K 5.5 7 7 8.5 9.5 12 13 16 19
L 4 5.5 5.5 7 8 10 11 13 16
M (Nominal size x depth) M5x8 M6 x 7 M6 x 7 M8 x 10 M8 x 10 M10 x 11 M12 x 12 M16x16 M20x20
N 7 10 10 14 17 24 30 36 41
P 14 19 22 27 32 41 50 60
T 14.5 20.5 22.5 28.5 34.5 435 53 63 78
Min.U 12 14 14 15 16 18 20 25 25
Max.U 23 |29 I38 20 |2s |41 24 |32 |48 26 |3s | 54 | 32 |45 Ise 34 |47 |69 38 |53 |76 47 |63 |92 54 | 72 |1o3
max. V 3 3 3 6 6 8 8 8 8
Stroke & Load details :
Model 0102 0101 0102 0201 0102 0301 0102 0401 0102 0501 0102 0601 0102 0701 0102 0801 0102 0901
Stroke code s [m Ju [s [m Ju s [m Ju Js v Ju [s M t s Im Tt Is m £t [s ™M Ju |s ™M TJL
Stroke __mm 6 |10 [16 |6 |10 |16 [8 [12 |20 |8 [12 [20 |10 [16 |25 [10 |16 [25 |12 [20 |32 [16 |25 J40 |16 Pp5 lo
Cylinder area cm?2 0.95 X 1.5 2.5 3.9 7.1 9.9 15.9 23.8
Cylinder volume cm? 0.6|09515]0.7 1.1 [1.8[1.2[1.8 [3.1]2.0[3.1 |51 [3.9 [6.3 [9.9 [7.1 [11.3]17.7]11.9]19.8 [31.7[25.4 [39.8 63.6 [38.0 |59.4 J95.0)
Release spring force(N) 12.4~24.0 26.0~43.0 33.0~61.0 50.0~99.0 79.0~150 157~319 236~452 353~657 564~1040
Supply pressure:(7MPa) 0.665 0.75 1.01 1.66 2.59 4.60 6.44 10.4 15.5
(force in kN)
Calculation formula  (kN) (0.01P)-0.024 | (0.113P)-0.041 | (0.154P)-0.060 | (0.254P)-0.099 | (0.394P)-0.150 [(0.707P)-0.319 |(0.990P)-0.452 [(1.59P)-0.657 [(2.38P)-1.04
Max.operating pressure(MPa) 15
Min. operating pressure (MPa) 0.8
ORDERING METHOD.
PRODUCT CODE-MODEL NO.
Eg. 0102-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
COMPACT CYLINDER 0103
Hydraulic (Manifold Mounting)
DESCRIPTION :

Compact design

Space saving & easy mounting

Male & Female threaded piston ends
Cylinders are provided with Universal y

Mounting

Clamping, Riveting, Pusing, Pulling & T

Ejecting

Min. Operating Pressure : 1Mpa
Max. Operating Pressure: 15Mpa

APPLICATION : A
= -
\I
=T B o
T JOB
[ SNt
©
©
All dimensions in mm 0101 0102 0103 0104
Pushing Force (kN) 4.7kN 12kN 19kN 29kN
Pulling Force (kN) 3kN 9kN 14kN 22kN
Thxpitch M6x10 deep M10x18 deep M12x20 deep M16x25 deep
L4 6 6 7 6
d 12 16 20 25
D 45 65 76 95
G 1/8" 1/8" 1/8" 1/4"
A/F 10 14 17 22
L1 16.5 16.5 17.5 22.5
L2 12 12 12 12
L3 4 4 4 4
ON 4.5 6.6 6.6 9
@M x deep 8x5.0 11x72.0 11%7.0 14.5x9.0
@Q (PCD) 35 50 60 75
Stroke 25 25 25 25
L 63 63 67 73
Oil Vol pushing (cc) 8cc 20cc 31cc 49cc
Oil Vol pulling (cc) 5¢cc 15¢c 24cc 37cc
ORDERING METHOD.
PRODUCT CODE-MODEL NO
[Eg. 0103-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE

LASYS PULL CYLINDER 0104
SINGLE ACTING

DESCRIPTION : ot
Compact design oD

Space saving mounting o .
Male & Female threaded piston ends Y £
Cylinders are threaded directly into e
manifold i

Spring Return Type Cylinder

APPLICATION : - B
* Can be used for direct clamping

as well as positioning & support
* Threaded body eases installation N S T

Mounting details B

T+0.1

Gacssaea,

moaxU

minye

P

Mox V T
MODEL CODE 01040101 0104 0201 0104 0301 01040401 0104 0501 01040601 01040701 0104 0801
SIZE CODE 'sl |L 5 | I | I |L } IL s | IL‘SIM'L SIMIL
Stroke mm| 4 6|10 5|8 |12/ 61016610 16]8]1 20\ 1220 10| 16 | 25 | 10 | 16 | 25
(yincer Force CadztonFormulgl KN ‘F=(0.072XP)-0.051.F=(0.126XP)-0.057‘F=(0217XP}-0‘108:F=[0.412XP)-0.175£F=(0.628XP) 313 F=(0.993XP)-0,471 F=(1.55XP)-0.726 | F=(2.53XP)-1.08
Cylinder Area cm? 0.7 13 22 41 6.3 : 99 ) ,15'5. 253

Gylinder Capacity cm? | 03|04 | 0.7 0610 1.5 13|22 |35 25|41 66 50|75 126]79 119 199|155 249/389|253 405633
ReleaseSpringForce N | 302~508 | 388~672 | 565~108 | 92~175 | 141~313 | 213~471 | 327~726 | 513~1076

Max. Operating Pressure MPa 25
Min. Operating Pressure. MPa 1.0
Withstanding Pressure  MPa | 375
Operating Temperature  °C 0~70
Mass kg j0.07;0.08l 0.1 01 | 0.1]015 0202/ 03] 03] 03] 04] 05 ) 06 0708|0910/ 13]15] 18] 22 2530
(mm)
MODEL CODE 0104 0101 0104 0201 0104 0301 0104 0401 0104 0501 0104 0601 0104 0701 0104 0801
SIZE CODE s IM]L s IMIL s IMI l I I ]L}s ]MIL s IMIL s IMIL
Stroke |4 |6 |10 5|8 12 6\10\16 6 1016 8{12 20 8{12'2010 16|25(10 16 25
A (Nominal X Pitch) M22X1.5 M24X1.5 M30X 1.5 M36X1.5 M45%1.5 ‘ M55X2 ‘ M65x2 M80x2
B 20.3 223 . 283 ' 343 433 ' 526 ' 62.6 776
C 9.5 9.5 | 115 ' 13.5 15.5 | 19.5 ' 245 29.5
D ‘ 10 10 | 12 . 14 16 . 20 . 25 30
E 19 21.2 ‘ 265 | 33 40 l 50 . 60 75
F 48.5‘53.5165.5 515 595 715595 715|885 63 745 91.5 72i 83'103.79i9‘| ‘112' 93.109:135 103;119'145
G 23.5.26.Sj34.5 25 ’ 30 38 <28.5!36.S|47.5; 28 35.5546.5 33 \ 40 52 33 ’ 41 | 54 42 | 52 \ 69 49.5;59.5?76.5
- | 8 8 9 10 12 12 13 13
J 8 8.5 ‘ 10 ‘ 12 12 ‘ 16 ‘ 17 175
K \9 11‘15 10!13'17.12:“6}22'13717‘23 15}19'27.18’22130.21‘27336 23‘29A38
L { 45 45 | 5.5 6.5 6.5 85 10 '11.5
M {NominalXPitch X Depth} ‘ MEX1X11 MEXT1X11 MBX1.25X18 M8X1.25X18 | M10X1.5X20 M12X1.75X22 M16X2X28 |[M20X2.5X31
" N 8 8 10 12 14 17 22 27
E P 17 19 ' 24 ‘ 30 36 ' 46 . 55 -
§ S 7 7~75 ‘ 7~105 . 10.5~13.5 12.5~16 ' 14.5~20 . 18.5~25.5 24.5~32
g T | 205 225 28.5 345 435 53 63 78
'Sg'(f) ' (min) | 14 14 | 14|14 14 14 A 15 | 15 ’ 15 ‘ 16 16 ‘ 16 18} 18 18 ' 20 ‘ 20| 20. 25| 25 \ 25| 25( 25| 25
g%‘g i(max.) 31‘34l42 32 37.45:37i45]56:37-45i56 Ml’51'63:44‘52]65 54 64’81 62?72'89
oy 1 § Vv \ 3 3 ‘ 3 . 3 5 . 5 . 5 5
% g: 3 3 | 3 | 3 5 | 5 | 5 5
Oouw

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
BLOCK CYLINDER 0105
Hydraulic (Double Acting)
pd
T Additional mounting holes
to be drilled as per
requirement,
3 T1 o= —
. r L
X ] = = ! =
: 2 ] 9
1 =2 | 2
- s I
5 |
DESCRIPTION : l
Double Acting Block Cylinder - |
Stroke : 10 / 16 / 25/ 50 / 75 / 100 Hr=+pa— | -
Male & Female threaded piston ends r | =1
Cylinders are provided with universal 2D
mounting .
Chromium plated plunger
Alloy Steel Body
Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa < N
= E
APPLICATION :
* Can be used for direct clamping B2 od1
as well as positioning & support B3
B1
Model| memreo 0101 | 0103 | 0105 | 0201 | 0203 | 0205 | 0301 | 0303 | 0305 | 0401 | 0403 | 0405 | 0501 | 0503 | 0505 |0507
No. [ rwerwen | 0102 [0104 [0106 | 0202 | 0204 [0206 | 0302 | 0304 [0306 [ 0402 | 0404 |0406 | 0502 [ 0504 [0506 [ 0508
Piston@D  mm 20 25 32 40 50
Rod @ d mm 12 16 20 25 32
@d1 mm 9 9 11 11 13
Stroke-S mm | 16 25 50 16 25 50 25 50 75 25 50 75 25 50 75 100
L1 mm | 66 75 100 66 75 100 80 105 | 130 | 80 105 130 95 120 145 170
L2 mm 8 8 12 12 14
L3 mm 16 18 22 28 36
L4 mm 16 19 21 25 25
L5 mm 35 35 40 40 50
L6 mm 19 19 225 22,5 305
L7 mm 16.5 16.5 17 17 17
B1 mm 60 65 75 85 100
B2 mm 225 25 215 315 38
B3 mm 45 50 55 63 76
H mm 20 225 275 315 38
H1 mm 40 45 55 63 76
K mm 125 15 17.5 315 225
K1 mm 25 30 35 43 45
P Hyd. Port. G1/8" G1/8" G1/8" G1/4" G1/4"
AIF mm 10 13 17 23 26
T mm M10x1.5 M14x1.5 M16x1.5 M20x1.5 M24x1.5
T mm M6 M10 M12 M16 M20
1 g fatce: KN. 2.20 343 563 8.79 13.74
Eﬁg'gafgm- KN. 1.41 2,03 343 5.36 8.12
ORDERING METHOD.
PRODUCT CODE-MODEL NO.
Eg. 0105-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
BLOCK CYLINDER 0105
Hydraulic (Double Acting)
2d
T Additional mounting holes
to be drilled as per
requirement.
S T My \ i
= |
| | I
X l . _—
| ©
) % " -
il T | =
. % | @
< |
DESCRIPTION : l
Double Acting Block Cylinder : |
Stroke": 25/ 50/ 75/ 100 B g ) R
Male & Female threaded piston ends i | ~
Cylinders are provided with universal @'D
mounting =
Chromium plated plunger S
Alloy Steel Body
Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa
| —
= = n
APPLICATION :
* Can be used for direct clamping
as well as positioning & support B2 ed1
B3
B1
Model |_*emee 0601 | 0603 | 0605 | 0607 (0701 |0703 | o705 | 0707 | 0801 | 0803 | 0805 | 0807 | 0901 | 0903 | 0905 | 0907
No. | rawemreo. | 0602 | 0604 | 0606 | 0608 | 0702 | 0704 | 0706 | 0708 | 0802 | 0804 | 0806 | 0808 | 0902 (0904 | 0906 | 0908
Piston@D  mm 63 72 80 100
Rod @ d mm 40 45 50 60
@d1 mm 13 17 22 22
Stroke-S mm | 25 50 75 | 100 25 50 75 100 25 50 75 100 25 50 75 100
L1 mm | 100 125 150 | 175 100 | 125 150 175 105 | 130 155 180 105 | 130 | 155 | 180
L2 mm 15 15 15 15
L3 mm 36 36 40 40
L4 mm 28 28 40 42
L5 mm 50 50 60 65
L6 mm 315 30 37 37
L7 mm 20 20 23 23
B1 mm 125 145 140 160
B2 mm 50 55 55 65
B3 mm 100 110 110 130
H mm 44 54 60 70
H1 mm 88 108 120 140
K mm 30 30 40 50
K1 mm 60 60 80 100
P Hyd. Port. G1/4" G 38" G1/2" G1/2"
AIF mm 36 41 45 55
T mm M30x1.5 M36x1.5 M40x1.5 M45x1.5
T1 mm M24 M30x1.5 M36x1.5 M40x1.5
ushing force. kN. 21.48 28.50 35.19 54,98
EF% e kN 12.68 17.37 21.44 35.19
ORDERING METHOD.
PRODUCT CODE-MODEL NO.
Eg. 0105-0101.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LINEAR CYLINDER 0106
DOUBLE ACTING
DESCRIPTION: APPLICATION :
1. DOUBLE ACTING *PUSHING / PULLING OF COMPONENT
2. FLANGE MOUNTING *LIFTING OF COMPONENT / BLOCK
3. MAX PRESSURE : 40MPa *POSITIONING OF PINS
4. MIN PRESSURE : 1 MPa *ALTERNATE TO LINK CLAMP WITH
5. HARD CHROME PLATED PISTON ROD EXTERNAL LINK MECHANISM

6. ALLOY STEEL BODY COATED WITH ANTI RUST
COATING

Application / Example
Schematic Diagram

DA B LK <o | I|||||
De- Clamp H s ] il
X N " Chamfer
O ©)
mE" Sty Mounting Dimensions
T tEH
% S, Lf £ - i:'ydraulic pr;ssure port
ses (Pull side) ¢ P#= :
Y ¥ A T (T type) D &
- ot Q\‘ 51'l—
N
- / S |
/ 2.!_
Hydraulic pressure port
{Push side) ¢ P =5 D
Clamp ’ K ‘ 4-dR (< type)
re - Spot facing $Q 4-EA Screw*? L#.l
6D
C06
I~
3 7™
oL
ool O I [ | ;';
g ! | :
> | |
5 ( SAB \  sRAD RO4
= g =
1 \'\1/"
> [T]: Male threaded body
= 1 -
AGiz = 4)) § 5
¥5° L _//-Ie/ 1
Roddameter| 131 5C8 ¢
o .k B g
@
E[ | w s
<C s 4 =
i |
1] = |
— = ~0.1
— éD To>
Mo Notes
# 1. Mounting bolts are not provided. Customer should
* + prepare based on dimension "S".
! + + + # 2. The number and size of AF bolts may vary as per
— different type.
# 3. EA tapping depth should be calculated so that mounting
wll ‘ N bolts engage fixture by at least 1.5 x bolt diameter,
BSP Thread 2 @ @ # 4. The D depth of the body mounting hole should be
BSPT (Rc-thread) decided from dimension £.

# 5. This process indicates -C: gasket type.

t

BSE Il][! a d i oo
BSPT (Rec-thread) t

Descri

0106 0401-P 0106 0481-P | 0106 0551-P 0106 0651-P 0106 1051-P

0106 0751-P | 0106 0901-P

on 0106 0361-P

Full stroke Y mm Y:1~50 Y:1~75
Cyllnderarea ;m) ':usr{'s"ia'é' 45 | 53 8.0 96 159 | 238 363 | 503

| (pul) sice | 2.5 2.8 49 5.8 110 16.7 26.4 344
Cylinder force | Pushside.  PXx0.45 PX0.53 PX0.80 PX0.96 PX1.59 PXx2.38 PX3.63 ] PX5.03
Caksatonfomial KN | g8t | PX0.25 PX0.28 PX0.49 PX0.58 | PX1.10 PX1.67 PX264 | Px3.44
Cylinder capacity |Pushside.  YX0.45 YX0.53 YX0.80 | YX0.96 YX1.59 | YX2.38 YX363 | YX503
ackatonomua) cm? R T yx0,25 Yx0.28 Y049 YX058 | YX110 YX1.67 YX264 | Y344
(ylinderinside diameter mm | 24 $26 32 $35 45 $55 ¢68 | ¢80
Rod diameter mm $16 ®18 $20 $22 $25 #30 $35.5 $45
Max. operating pressure MPa 7.0
Min. operating pfessuré MPa | 0.5
Wuthstandingbressure MPa | 10.5
Operating temperature °C . ~ ‘ 0~70 ‘
Mass kg 06~08 | 07~09 1.0~1.6 | 13~21 1.9~3.1 2.8~4.] 43~61 | 59~80

P: Hydraulic supply pressure (MPa), Y: Full stroke (mm)

ORDERING METHOD.

Product Coce-Model coce- Stroke

Eg: 0106-0361-25-A

- Piston Type

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LINEAR CYLINDER 0106

DOUBLE ACTING

: Female threaded A

B T P
: Female threaded (With anti-rotation pinhole)
: Male threaded @ @ @ @

v - @ >

. Pin-hole option

Mounting Dimensions

[P]: Pin-hole option
Description | 01060361-p 01060401-P |  01060481-P 0106 0551-P 0106 0651-P | 0106 0751-P 0106 0901-P

Full stroke Y 1~14 [15~50 1~14 [15~50 1~14 | 15~75 1~14 |15~75 | 1~14 15~75 1~14 |15~75| 1~14 | 15~75 1~14
A 63 Y+48 70 | Y#55 | 74 | Y459 | 80 Y+65 | 90 | Y#/5 | 101 | Y+86 | 114 | Y499 | 127 | Y+l12
B 49 | 54 61 { 69 81 | 92 107 122
€ 40 45 51 60 0 |80 9 110
D 36 40 48 55 65 75 90 105
E 48 Y+33 51 Y+36 53 Y+38 56 Y+41 62 | Y+47 68 Y+53 77 | Y462 81 Y+66
F 23 [P¥a8| 26 YIS 25 [0 28 [INRIST| 32 NG| 31 [YHI6 | 37 Y4220 36 [[We210
G 25 | 25 28 | 28 30 | 37 40 45
H 29 31.5 35.5 39 46 52 59.5 67
J 20 22.5 25.5 30 35 ‘ 40 47.5 55
K 314 34 40 { 47 55 | 63 75 88
L 66 | 73 83 | 88 106 | 116 136 152
M 11 11 12 12 13 16 16 17
Nx 235 26 30 335 395 45 52.5 60
Ny 8 9 1 12 15 16 18.5 22.5
P 3 { 3 3 _ 3 5 | 5 5 S
Q 75 e85 | 85 . m no | w75 |20
R 4.5 5.5 5.5 6.8 6.8 9 11 14
S 16 14 15.5 13 15.5 17.5 16.5 17.5
T 5|19 a x 8 3 3 46
U 6 { 8 10 { 1 13 ' 16 19 22
Vv 6 8 9 10 12 14 16 21
W 75 9.5 10.5 12 14 17 19 23
Chamfer Q [ o [ o | @ | & [ G [ 6 | G
AB 12 15 17 19 22 27 32 42
AC 6+00% [ g+guis g0 10407 12°g0% 14+00%8 16+50% 20 +0021
AD 6 8 9 10 12 14 16 21
AE 5 4 6 4 6 ‘ 6 8 10
AF M3X05 | M4x07 MaX07 | M5X08 M5x08 | M6 M6 M6
DA 3.5 { 35 35 | 35 4.5 | 4.5 4.5 4.5
DB 14 14 14 14 19 19 22 22
EA M4Xx0.7 M5x%0.8 M5X0.8 M6 M6 M8 M10 M12
CLAMP PORT G1/8 G1/8 G1/8 G1/8 G1/4 G1/4 G3/8 G3/8
DE-CLAMP PORT Gig | a8 Gi/g | GI8 Gi/a | Gl G3/8 G3/8
O-ring 1BP5 1BP5 1 1BP5 1BP5 [ 1BP7 ' 1BP7 [ 1BP7 [ 1BP7
: Female threaded Refer P pinhole option dimension for not mentioned size below. (mm)
'-: . '. D106 036 * UT06 040 . U106 048 . U106 055 D106 065 ' U106 U5 U106 OS0U ) U106 US *
As |. 57 Y+42 | 61 Y+46 | 64 | Y+49 68 | Y+53 75 | Y+60 83 | Y+68 93 | Y+78 99 | Y84
Ta 9 10 1 12 13 15 16 18
Ua 12 13 14 17 19 24 30 36
Wa 7.5 | 7.5 8.5 | 9 10 ; 12 13 15
BB 4 15 719 2 | 33 42
BC (Nominal X Depth) M6Xx12 M8X16 M8X16 M10%20 M12X24 M16X%32 M20X40 M24X48
: Female thread with anti-rotation p'nh°le Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below. (mm)

0106 0481-A 0106 0551-A 0106 0651-A 0106 0751-A 0106 0901-A 0106 1051-A

, ; 2.5 _ 25 ,
We 55 5 6 6.5 7 8.5 } 9 I 10.5

[T]: Male threaded body Refer P pinhole option dimension for not mentioned size below. (mm)
[ 0106 0481-A 0106 0551-A 0106 0651-A 0106 0751-A 0106 0901-A 0106 1051-A

Ar 73 Y+73 | 96 107 | Y492 | 118 | Y4103 | 139 | Y+124 Y+138
Tr 25 30 35 40 45 50 62 72
Us 12 14 17 17 19 24 30 36
vr 1 | 20 | 24 | 28 | 3 | 3 | 4 | 54
Wr 75 _ 75 8.5 _ 9 10 ‘ 12 13 15
8 14 17 19 21 24| 29 34.5 2
CC (Nominal X Pitch) | M10X1.25 M12Xx1.25 M14X1.5 M16X1.5 M20X1.5 M24X1.5 M30X1.5 M36X1.5

ORDERING METHOD.
Product Code-Made! code- Strokn - Plston Tyos

Eg : 0106-0361-25-A

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LINEAR CYLINDER 0106
DOUBLE ACTING

: Female threaded A B

: Female threaded (With anti-rotation pinhole)
: Male threaded

v - W >

. Pin-hole option

[P]: Pin-hole option

0106 0401-P ‘ 0106 0481-P l 0106 0551-P | 0106 0751-P 0106 0901-P 0106 1051-P
Full stroke Y 51~100 51~100 76~200 76~200 76~200 76~200 76~200 76~200
A Y+63 Y+70 Y+76 Y+81 Y+91 \ Y+107 Y+121 Y+138
B 49 54 61 69 81 92 107 122
C 40 45 51 60 70 ‘ 80 95 110
D 36 40, 48 55 65 75 90 105
E Y+48 Y451 Y+55 Y+57 Y+63 \ Y+74 Y+84 Y+92
F Y+23 Y+26 Y+27 Y+29 Y+33 Y+37 Y+44 Y+47
G 25 25 28 28 30 ‘, 37 40 45
H 29 315 355 39 46 52 59.5 67
J 20 225 25.5 30 35 [ 40 47.5 55
K 314 34 40 47 55 [ 63 75 88
L 66 73 83 88 106 l 116 136 152
M 1 11 12 12 13 16 16 17
Nx 235 26 30 335 39.5 \' 45 52.5 60
Ny 8 9 1 12 15 16 18.5 22.5
P 3 3 3 3 5 I 5 5 5
Q 7.5 9.5 9.5 1 11 14 175 20
R 4.5 55 55 6.8 6.8 9 1 14
S 16 14 15.5 13 15.5 17.5 16.5 17.5
T 15 19 21 24 28 !_ 33 37 46
U 6 8 10 1 13 16 19 2
v 6 8 9 10 12 [ 14 16 21
W 75 9.5 10.5 12 14 17 19 23
Chamfer C a a & a | G c6 c6
AB 12 15 17 19 22 27 32 42
AC 6002 g*ams g-gos 10+ 12-00% \ 14200 169 200
AD 6 8 9 10 12 [ 14 16 21
AE 5 4 6 4 6 [ 6 8 10
AF _M3X0.5 M4x0.7 _M4x0.7 M5X0.8 M5x0.8 ‘M6 M6 Mé
DA 35 3.5 3.5 35 45 ‘ 4.5 4.5 4.5
0B 14 14 14 14 19 19 2 2
EA M4x0.7 M5x0.8 M5X0.8 Mé M6 \ M8 M10 M12
CLAMP PORT | G1/8 G1/8 G1/8 G1/8 Gl/4 Gl/4 G3/8 G3/8
DE-CLAMP PORT|  G1/8 Gig | GI/8 | GI/8 GiA | GA | G38 G3/8.
: O-ring | ____1BPS 8PS | 18P5 | 1BPS 18P7 1BP7 | 1BP7 18P7
: Female threaded Refer P pinhole option dimension for not mentioned size below. {mm)

Description

I 0106 0361-A

0106 0481-A

0106 0551-A

0106 0651-A

0106 0751-A

0106 0901-A

0106 1051-A

As Y+57 Y+61 Y+66 Y+69 Y+76 Y+89 ¥+100 Y+110.
Ta 9 10 1 12 13 15 16 18
Ua 12 13 14 17 19 24 30 36
Wa 7.5 7.5 8.5 g 10 { 12 13 15
BB 14 15 17 19 22 27 33 42
BC (sizeXdepth) M6X12 M8X16 M8X16 M10Xx20 M12X24 ‘ M16X32 M20Xx40 M24X48
: Female thread with anti-rotation p'nh°|e Refer P pinhole option / A female thread option, dimensions not mentioned size in the chart below. (mm)

0106 0361-A 0106 0481-A 0106 0551-A 0106 0651-A 0106 0751-A 0106 0901-A 0106 1051-A
Vs 2 2.5 2.5 2.5 3 4 5 6
Ws 5.5 5 6 6.5 7 8.5 9 10.5

ption dimension for not mentioned size below.

0106 0401-A | 0106 0481-A 0106 0551-A 0106 0651-A 0106 0751-A 0106 0901-A 0106 1051-A
AT Y+73 Y+81 Y+90 Y+97 Y+108 Y+124 Y+146 Y+164
T 25 30 35 40 45 [ 50 62 72
Ur 12 14 17 17 19 | 30 36
Vr 16 20 24 28 32 | 35 46 54
Wr 75 75 85 9. 10 | 12 13 15
CB 14 17 19 21 24 [ 29 345 42
CC (sizeXdepth) M10X%1.25 M12X1.25 M14X1.5 M16X1.5 M20X1.5 M24X%1.5 M30X1.5 M36X1.5

ORDERING METHOD.

Product Code-Model code- Stroke - Pliston Type

Eg : 0106-0361-25-A

(Specifications subject to change)




DESIGNATION PRODUCT CODE
Hydraulic (Threaded Body)
ORDERING METHOD. SPECIFICATIONS
PRODUCT CODE—MODEL Nol |ode! Ne. 0201 0101 0201 0201 0201 0301 0201 0401
Eg. 0201 —01 01 . Support Force at 7Mpa (kN) 3.00 3.8 4.5 9.5
Support Force Formula for
Operating pressure (Mpa) 0.53xP-0.68 | 0.67xP-0.91 |0.825xP-1.25| 1.7xP-2.28
Plunger Stroke - S (mm) 6 8 8 10
ElpEtRENG Fore: o0 2.8~4.1 3.6~5.7 4.7~7.8 5.8~9.7
Plunger Rising Force  H (N)
3.8~5.9 4.9~8 6.2~11 7.9~13.6
Cylinder Volume (cm3)
0.60 0.90 1.30 2.00
Min Operating Pressure 2.0 Mpa
Max Operating Pressure 7.0 Mpa
Weight kg 0.20 0.25 0.35 0.75
A 65 73 80 80
DESCRIPTION : B ~a >7 32 a1
Compact design aC 6 30 36 25
Manifold Mounted D M26x1.5 M30X1.5 M36X1.5 M45X1.5
Wide Operating Pressure Range E 55 635 675 68.5
Hydraulic Advance F 7 8 9 10
Single Acting G 36 42 46 46
2C H 8 9 8.5 10
aU 2] 24.6 28.4 34 43
2BA R 10.7 11.5 13.5 18
a ) T 9.5 9.5 12.5 11.5
A o2 gu 10 12 15 16
2 v 5 5 5.5 6
W 8 10 13 14
> ~
- X M6 M8 M10 M10
@BA 9.5 11.5 12.5 12.5
BB 4 4 4 4
BC 8 10 12 13
@CB 24.5 28.5 34.5 43.5
CC 16~47 17~50 18~48 21~58
* cD ce -7 cC -7 CC -8 €C -8
@CF pcd 21.4 pcd 23.0 pcd 27.0 pcd 36.0
BCG 2 2 2 2
@DA x thick @12x2 D14x2 D14x2 @220x2
PAD Dimensions
PEB 4.9 6 8.2 10
EC M6 M8 M10 M10
@ED 2.5 5 5 5.5
2CG EE 9 10 10 10
EF 6 7 8 7
EG 2 2 2 2
O-Ring @5x1.5 D4x2 @8X1.5 ?8x1.5
@FA 2.6 5.0 5.8 5.8
OFB 3.6 6 8.5 8.5
. m FC 115 13 10 12
v FD 4 4 8 8
¥ FE 2 2 2 2
FF 18 19 20 20
Mounting Torque (Nm) 315 50 63 80
NOTE. LOAD GRAPHS MOUNTING DIMENSIONS.
The drawing shows plunger in retracted position _,#=:
Refer to recommendations for making new contact bolt | 4D
Refer to recommendations for mounting torque SUPPORT LOAD V'S PRESSURE a
Do not exceed recommended torque $)
Do not exceed recommended working pressure e #CB 8
Plunger Spring & Contact Bolt Dimensions | R
m |<c [ ==0201 0101 T T
% ’L,a| £ =@=0201 0201 | i”
p— 3 02010301 ﬂé_
7
. 400 - (202 0401
— o O-Ring. %
iy I _' 200
m TN
FE FC b 3| § - gl 8[| LGV
FF 15bar 20bar  30bar 40bar S0ber G0bar 70bar  80bar
EG
_NOTE' Length as per EF =
requirement. EE

(Specifications subject to change)




DESIGNATION PRODUCT CODE
THREADED BODY WORK SUPPORT 0201
SINGLE ACTING
DESCRIPTION MODEL CODE 0201 0091 0201 0091S
Threaded body mounting Support Force at 7MPa kN ; 20 06
H Support Force (Calculation Formula) kN 0.38XP~0.69 0.12XP-0.24
Ba" & COIIet L00k|ng ;Iun“ge“r‘sl“;k;’-‘“““ m“mliu_sis"*—“‘s*"“—
A||Oy Steel bOdy Cylinder Capacity _em! \ b4 b2
Hydraulic Advance Punger Soring Force f L: Low Speing Force 21~31 18~ 31
N | H: High Spring Force 30~44 21 ~43
Max Pressure : 8.5Mpa MoximumOperatngPressure  Mea | 70
Min Pressure: 15Mpa Minimum Operating Pressure  MPa 25
Withstanding Pressure MPa 10.5
Operating Temperature T 0~70
Mass kg | 0.1 \ (ER}
Dimensional Specification
M4X0.7 Thread Depth 7 = 2 (mm)
PRNNE
”g}\\} A % . Plunger Stroke = 6.5 5
\ - g A 59.5 45
— - go,s E 525 38
922 Contact Bolt (Included) o G 377 25.7
> | g 838 63
- . / E aco (ltm;%yd: I:Dr : T [(l’\(:' '|7 CC 14~43 14~31
:} S?:)—QF / 83 perating aulic Pressure (MP3) : : :
R Mounting Dimensjons
i £ Hydraulic F;ort t,>~\67
:91 15“‘\’[ | [ I g 5 Air Vent Port
(e max. ¢2.5
G
M22x15Screwd| | | <
L
2027 © [z} Mizmﬁzlsczg’erl) ”:‘ o
| ) . ll v E_IEJILE §
. d /OI.i I ‘I Il ded) . . R0.4 ?‘:27.%5
Qrng fncuded) ing {nclude Note: Short Model available also in M26 & I
M30 Sizes N
MODEL CODE
M60x1.5 0201 0501
60x1. 5
S THREADED BODY WORK SUPPORT 0201 0501-E
Ball & Collet Locking
Hydraulic Advance model
¢ | Spring Advance Model
B L]
o 4
l
4
<
218 f
¢12.5 Y 1.6 ,
: 0201-0601-5]
- 1.55 -
o
1 28 4 _ 9 Pl
S ‘ o <25 | S
ol M 3 15— 1 e I =k
q :‘é | S al ™~
o RS ~ ey -
091 w I \)5 %1.45 .| =
v wn
] 3 1.4 I
& &
o |
: .
% 1 2 3 4 5 6 7
iy Operating Hydraulic Pressure (MPa)
1D=934
ORDERING METHOD. Bl f

PRODUCT CODE=MODEL NO
[Eg. 0201-0501

(Specifications subject to change)




Do not exceed recommended torque
Do not exceed recommended working pressure

Plunger Spring & Contact Bolt Dimensions

2]

Y Y

- O-Ring. %

FE FC /o 3 8 - 8|8
FF '
EG
m Length as per } 2
requirement. EE

DESIGNATION PRODUCT CODE
SINGLE ACTING, SPRING ADVANCE
ROERG SETI00. SPECIFICATIONS
PRODUCT CODE—MODEL No| | 103! No. 0201 0101 0201 0201 | 0201 0301 0201 0401
[EQ. 0201—0101. | | support Force st 7pe 00 3.00 38 a5 9.5
Support Force Formula for
Operating pressure (Mpa) 0.53xP-0.68 | 0.67xP-0.91 |0.825xP-1.25| 1.7xP-2.28
Plunger Stroke - S (mm) 6 8 8 10
funger fosng force £ 2.8~4.1 3.6~5.7 4.7~7.8 5.8~9.7
bl 3.8~5.9 4.9~8 6.2~11 7.9~13.6
e ) 0.60 0.90 1.30 2.00
Min Operating Pressure 2.0 Mpa
Max Operating Pressure 7.0 Mpa
Weight kg 0.20 0.25 0.35 0.75
A 71 80 88 90
DESCRIPTION : B 24 >7 3> a1
Compact design oc 26 30 36 45
Manifold Mounted D M26x1.5 M30X1.5 M36X1.5 M45X1.5
Wide Operating Pressure Range E 55 63.5 67.5 68.5
Hydraulic Advance F 7 8 E 10
Single Acting G 36 42 46 46
40 H 8 9 8.5 10
2U (3] 24.6 28.4 34 43
2BA R 10.7 11.5 13.5 18
Q ) T 9.5 9.5 12.5 11.5
AL oU 10 12 15 16
& v 5 5 5.5 6
Z . W 8 10 13 14
X M6 M8 M10 M10
- - PBA 9.5 11.5 12.5 12.5
- BB 3 2 ) 4
BC 8 10 12 13
@CB 24.5 28.5 34.5 43.5
cC 16~47 17~50 18~48 21~58
x CD CC-7 CC -7 CC -8 cC -8
@CF ped 21.4 ped 23.0 ped 27.0 ped 36.0
@CG 2 2 2 2
@DA x thick 912x2 @14x2 914x2 @20x2
PAD Dimensions
QEB 4.9 6 8.2 10
EC M6 M8 M10 M10
— @ED 2.5 5 5 5.5
< [l | #CG EE 9 10 10 10
O-Ring. EF 6 7 8 7
EG 2 2 2 2
0-Ring @5x1.5 P4x2 ?8X1.5 ?8x1.5
OFA 2.6 5.0 5.8 5.8
OFB 3.6 6 8.5 8.5
@ FC 11.5 13 10 12
>'< FD 4 4 8 8
¥ FE 2 2 2 2
FF 18 19 20 20
Mounting Torque (Nm) 31.5 50 63 80
NOTE. LOAD GRAPHS MOUNTING DIMENSIONS.
The drawing shows plunger in retracted position
Refer to recommendations for making new contact bolt
Refer to recommendations for mounting torque SUPPORT LOAD VS PRESSURE

Bow Vb NVir O Nt Ot Vb Hbr

(Specifications subject to change)




DESIGNATION PRODUCT CODE
WORK SUPPORT, FLANGE MOUNT 0203
SINGLE ACTING
MODEL CODE 0203 0071 0203 0081 0203 0091
Support Force at 7MPa kN . 2 ' 3 . 4
Support Force (Calculation Formula) kN _ 0.38XP-0.69 . 0.53XP-0.68 . 0.70XP-0.91
Plunger Stroke mm 6.5 . 6.5 . 8
Cylinder Capacity ' cm? _ 0.4 ‘ 0.6 A 0.8
Plunger Spring Force ‘ L: Low Spring Force | 22~30 ' 28~38 ' 36~56
N ] H:HighSpringForce |~ 3.0~ 4.4 3.7~55 47~178
Maximum Operating Pressure  MPa 7.0
Minimum Operating Pressure  MPa 25
Withstanding Pressure MPa 10.5
DESCRIPTION : Eperating Temperature G 0~70
Flange EOdy Mass kg 0.3 04 0.5
Hydraulic Advance _ . o :
Low Operating Pressure Dimensional Specification
Fanige Mouiting MODEL CODE 0203 0071 0203 0081 0203 0091
Single Actin
9 5 . Plunger Stroke 6.5 | 6.5 8
Ball & Collet Locking
A 56.5 A 58.5 64
Max Pressure : 8.5Mpa
Min P -1.5M B 40.5 45.5 49
in Pressure : SN pa C 29 34 40
“@‘—m 5 D 26 _ 30 36
@ E 49 . 49 325
HYD.PORT == F 21 21 27.5
Siy G 28 | 28 , 25
: H 24 _ 26 29
| & | 1o J 16.5 19.5 20
N b T i Kx 25 30 314
gl Ky 21 , 23 314
L 53 | 57 63
M 1 1 1
Nx 18.5 20.5 23.5
Ny 3 _ 3 5
% P 3 . 3 3
Q 6 75 75
R 34 | 4.5 4.5
8] = S 21 _ 19 16
e T 7S 9.5 11.5
V) 7 10 12
v 3.5 | 5 6
W 55 | 8 10
X (NominalXPitchXDepth) M4X0.7X7 M6X1X9 M8X1.25X12
Yx 18.5 20.5 23.5
Yy 7 | 7 8
Z (Chamfer) C2 ‘ a3 C2
BA 6.5 9 1.5
BB 2.5 3 <
BC 3.5 _ 8 10
CA ‘M3X0.5 . M4Xx0.7 ‘M4X0.7
EY SR20 SR30 SR30
JA 3.5 _ 3.5 3.5
JB 14 | 14 14
Hydraulic Port G Thread G1/8 G1/8 G1/8
O-ring EX Thread 0 <F
. 7K o | B
/[ YA o
] % 0203-0081 :
:: re 30 N
FEI..| . ) 2l 2 - N
vy /\i ( __._S_L.E 325 5 ——— _l__>_
7 £ 2 | g g\i//
EG | | EF 215 =
EE 8 it R
10 s =l 9
- g
s - -
ORDERING METHOD. £
PRODUCT CODE~-MODEL NO . % 1 _
EQ. 0203 0071 | Load (kKN) @70 bar Mounting Dimensions

(Specifications subject to change)




DESIGNATION PRODUCT CODE.

WORK SUPPORT 0203
FLANGE MOUNTED

SPECIFICATIONS.
Model.No. [0203-0101|0203-0201(0203-0301|0203-0401|0203-0501(0203-0601
Support force at 7MPa. kN 45 9.5 14 21 33 45
fi I
%ﬁ%ﬁfafg,ﬂgeér%"}”ﬁé). N 0825 125 |155xP 125 |236xP 226, |383P-57 |560P-6.13 | 7.5¢P 687
Plunger Stroke - ST. mm 8 10 12 14 16 20
Cyl. volume. cm’ 1.2 2.0 33 4.8 8.9 13.1
; L N 28~41 36~57 47~78 9.8~14.6 12.4~18.8 14.6~21.0
Pl 2
unger springforce. e ——3g=59 T 49-80 [ 62=110 [ f68220 | 87310 | H&342
Max. operating pressure. MPa 7.0
Min. operating pressure. MPa 20
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kg. 0.6 0.8 14 2.2 3.6 6.0
A 78 76 89 101 126 140
B 54 61 69 81 92 107
C 45 51 60 70 80 95
DESCRIPTION : 2D 40 48 55 65 75 90
Flange Body E 64 64 73 85 107 128
Hydraulic Advance F 39 39 45 56 72 88
Low Operating Pressure G 25 25 28 29 35 40
. . J 225 25.5 30 35 40 475
Single Acting K % ) 47 5 8 7
ORDERING METHOD. K1 17 20 23.5 27.5 315 375
PRODUCT CODE-MODEL NO. oL 68 13 83 Cad 106 126
Eg. 0203-0101. M 11 11 11 11 13 13
N 26 30 335 39.5 45 52.5
Q 9.5 9.5 11 11 14.5 17.5
aU R 55 55 6.6 66 9 11
el S 15 15 17 17 17 18
2BA o T 1 12 16 16 19 22
m 7] ou 15 16 20 22 25 32
i Vv 6 6 8 9 9 10
HYD.PORT W 13 14 18 19 22 24
>~ X M10 M10 M12_ M12 M16_ M16
= Hyd. port. G1/8" G1/8" G1/8" G1/8" G1/4" G1/4"
rh— | 0O-Ring. D4x2 @4x2 Q4x2 @6X2 @6x2 D6X2
O A | | | | @BA 12.5 12.5 16.5 16.5 21.5 30
b 111 BB 4 4 6 6 9 9
N - = BC 11 11 14 15 20 28
— , t OEB 75 75 10 10 135 135
in Contact Bolt. EC M10 M10 M12 M12 M16 M16
L i QED 5.5 6.5 6.0 6 9 10
| EE 11 10 10 13 16 16
EF 2 2 2:5 2 3 3
¢b-g;; EG 2 2 2 2 3 3
CA M5 M5 Mé Mé M8 M10
DA K Mounting dimn. oCB 2 2.5 25 3 5 5
K1 g
'8 90 . DA 35 35 45 45
PLUG. j
ug\ - With phug DB 14 14 18 18
D)y~ gFA 58 58 6.0 64 10 10
AR\ G T \ ¥/
\ \7/ \\ OFB 85 8.5 10.2 10.2 14 14
Q 1 O Plunger spring FC 9.5 10 12 21 16 24
e S \\ . @ = housing dimn. FD 8 g 3 3 7 12
X 72N EE 2 2 2 2 2 2
\ f(\\‘;,/, = s FF 19.5 17.5 20 29.5 30 385
ol H 7 Plunger Spring & Contact Bolt Dimensions
Dl <
B s & .
B Flame hardengd. -Ring.
BB
i &
m'! Q
PRI i - § @
Sl . o NOTE. FC
The Drawing shows plunger in release position e i S UG T i s Bottion EG EF
Refer recommendatmn; for making new contact bolt The'ia,. EF dirvension wheh plonger spciig & CaRE ’ EF
Refer to recommendations for mounting torque compressed = (FF-stroke) €ngtn as per
Do not exceed Recommended torque To be used as reference for designing of springs. requirement.
Do not exceed Recommended Working Pressure Consider Plunger spring force to decide weight of contact bolt.
Donot change specification of contact bolt.
LOAD GRAPH LOAD GRAPH MOUNTING DIMENSIONS.
‘ N
SUPPORT LOAD VS PRESSURE SUPPORT LOAD VS PRESSURE
1600 6000 ~ =
1400 7 » lo \ !
1200 i e - N | | %
i 3 g ki / |
k4 1 0203 0101 % =gm203 0401 cB _€>\ /t\
3 3 0203 0201 o =203 0401 il “\
§ g
1 0203 0301 i 0203 0501
0 <l | K CA
- _
1000 -
553
15bar 20bar 30bar 40bar SObar 60bar 70bar 80bar 15bar 20bar 30bar 40bar SObar 60bar 70bar BObar

(Specifications subject to change)




Hydraulic Advance

Flange Mounting
Single Acting

Low Operating Pressure

Dimensional Specification

DESIGNATION PRODUCT CODE
WORK SUPPORT, FLANGE MOUNT 0203-E
SINGLE ACTING
MODEL CODE 0203 0071 0203 0081 0203 0091
Support Force at 7MPa kN 2 \ 3 \ 4
Support Force (Calculation Formula) kN 0.38%P-069 | 0.53XP-0.68 | 0.70XP-0.91
Pldﬁger Stroke mm . 6.5 ‘ 6.5 8
Cylinder Capacity cm? ‘ 04 ] 0.6 08
Plunger Spring Force L: Low Spring Force | 22~30 | 28~38 36~56
N H:High Spring Force | 30~44 ‘ 3.7~55 47 ~78
Maximum Operating Pressure  MPa | 70
Minimum Operating Pressure ~ MPa | 25
Withstanding Pressure MPa | 10.5
DESCRIPTION : Operating Temperature € ‘ 0~70
Flange BOdy Mass N kg ‘ 03 ’ 0.4 ‘ 0.5

Ball & Collet Locking N = 62 -
Max Pressure : 8.5Mpa B 405 455 49
Min Pressure : 1.§Ll\j/|pa C 29 34 40
~GEA. Glg D 26 30 36
18 E 49 49 52.5
HYD.PORT =5 F 21 21 27.5
SN G 28 28 25
: H 24 26 29
.3 B J 16.5 19.5 20
N T al Kx 25 30 314
al Ky 21 23 314
. | ) 53 57 63
, M 1 1 11
o0 Nx 18.5 20.5 23.5
DA K i Ny 3 3 5
PLUG. P 3 3 3
AN Q 6 Vs 7.5
.| N R 34 4.5 4.5
of x| 1ot Ht 8] = S 21 19 16
- ~ il 5 9.5 11.5
oL H — J U 7 10 12
% Vv 3.5 5 6
. SR 8 0
X (Nominal XPitchXDepth) M4X0.7 X7 M6X1X9 M8X1.25X12
Yx 18.5 20.5 23.5
Yy 7 7 8
Z (Chamfer) C2 c3 C2
BA 6.5 9 11.5
BB 2.5 3 4
BC 55 8 10
CA M3X0.5 M4X0.7 M4 X0.7
EY SR20 SR30 SR30
JA 3.5 3.5 3.5
JB 14 14 14
Hydraulic Port G Thread G1/8 G1/8 G1/8
O-ring EX Thread L =
— o " L [
s & = T | o
! / U N ot % sof— | SRR \
—H—- ] / w| e £ - z I \
s [ ( g Sy.6 325 aacors /| <, [ R s
\__ VDb E £ / | *le|  gl/
E 20 I t v} x\y
EG | | EF LML ( .=
a g
= o // - 3 E
5 // ‘ ‘ 5 %
ORDERING METHOD. | | 3 8
PRODUCT CODE—MODEL NO % 1 2 3 4 E
Eg. 0203 0071 Load (kN) @70 bar Mounting Dimensions

(Specifications subject to change)




DESIGNATION

WORK SUPPORT, FLANGE MOUNT
SPRING ADVANCE, SINGLE ACTING

PRODUCT CODE.

0203-E

DESCRIPTION :
Flange Body

Hydraulic Advance

Low Operating Pressure
Flange Mounting

Single Acting

ORDERING METHOD.

PRODUCT CODE-MODEL NO.
Eg. 0203-0101.

__ST
Stroke.

HYD.PORT

NOTE.

The Drawing shows plunger in release position

Refer recommendations for making new contact bolt
Refer to recommendations for mounting torque

Do not exceed Recommended torque

Do not exceed Recommended Working Pressure

LOAD GRAPH

SUPPORT LOAD VS PRESSURE

15ber 20bar  30bar &bar SObar 60baw  T0har  BORar

5000
4000
w0203 0101 2
w0203 201 g 37
203 0301 I
000 7
$000 -

SPECIFICATIONS.
Model.No. |0203-0101|0203-0201|0203-0301|0203-0401 | 0203-0501|0203-0601
Support force at 7MPa. kN 45 95 14 21 33 45
_ﬁ:mfg‘;m:&,‘ KN fososxp-125 |155xP-125 |236P 228, [383P-57 |[560xP-6.43 | 7.5%P-687
Plunger Stroke - ST. mm 8 10 12 14 16 20
Cyl. volume. cm’ 1.2 2.0 33 48 89 13.1
' L[ N 28-4.1 36~57 47~178 98~146 124~188 | 146-21.0
Plunger spring force.  \ e t— —1—5=s5 14880 [ 62=Ti0 | 168=20 | 187319 | 432
Max. operafing pressure. MPa 7.0
Min. operaling pressure. MPa 20
Design pressure. MPa 105
Uperating temp %C 0-70
Weight. Kg. 0.6 08 14 22 36 6.0
A 71 86 101 115 142 160
B 54 61 69 81 92 107
C 45 51 60 70 80 95
20 40 48 55 65 75 a0
E [ B4 73 85 107 PR
F 39 39 45 56 72 88
G 25 25 28 29 35 40
H 315 355 39 46 52 595
J 225 255 30 35 40 475
K 34 40 47 55 63 75
K1 17 20 235 215 315 315
oL 68 73 83 94 106 126
M 11 11 11 11 13 13
N 26 30 335 395 45 52.5
Q 95 95 11 11 145 175
R 55 55 6.6 66 9 1
S 15 15 17 17 17 18
T 14 12 16 16 19 22
ou 15 16 20 2 25 32
vV [ 6 8 9 g 10
m 13 14 18 19 22 24
X M10 M10 M12 M12 M16 M16
Hyd. port. G1/g" GIlg" G178" GI/g G4 Gil&
0O-Ring. D4x2 ax2 D4x2 P6X2 26x2 6X2
A 125 125 16.5 16,5 215 30
BE 4 4 [ B 9 9
BC 1 11 14 15 20 28
OEB 75 75 10 10 135 135
Contact Bolt. EC M10 M10 M12 M12 M16 M16
QED 55 6.5 6.0 3 9 10
EE 1 10 10 13 16 16
EF 2 2 25 2 3 3
EG 2 2 2 2 3 3
CA M5 M5 M6 M6 M8 M10
Mounting dimn. OCB 2 2.5 2.5 3 5 5
DA 35 35 45 45
i @08 14 14 18 18
OFA 58 58 6.0 6.4 10 10
OFB 85 85 10.2 10.2 14 14
Plunger spring FC 9.5 10 12 21 16 24
housing dimn. FD 8 6 6 6 12 12
FE p) 2 2 2 ) )
FF 19.5 175 20 295 30 385
Plunger Spring & Contact Bolt Dimensions
& g
Flame hardcn& -Ring.
DAl i (Y
Q
FE ' FD 3 @ : =
NOIE, £ EG EF
e e VA s
compressed = (FF-stroke) it Leng.th as pe
To be used as reference for designing of springs. requirement.
Consider Plunger spring force to decide weight of contact bolt.
Donot change specification of contact bolt.
LOAD GRAPH MOUNTING DIMENSIONS.
N
SUPPORT LOAD VS PRESSURE

15bar 20bar 30by &by SOby Hbw Wby MWbe

| +—— ViR
|
(203 0401 c {k A\
—n03 0401 /\\
w203 0501 K CA

(Specifications subject to change)




DESIGNATION
SWING CYLINDER (Top Mount)
Hydraulic (Double Acting)

PRODUCT CODE

0301

DESCRIPTION :

Double Acting Swing Clamp

90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping
Chromium plated piston rod

Alloy steel body

Flange Mounting

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

ORDERING METHOD.
PRODUCT CODE—MODEL
Eg. 0301—0101.
: Y | 90° RH.|0301-0081 |0301-0091
1= L \ ) Model 90° LH.|0301-0082|0301-0092
of  Teeel0g s A 95 111
- T B 49 54
S B . C 40 45
T oo — - D 36 40
P L E 64.5 75
o [ LD | e F 39.5 50
s I | | G 25 25
Y S e H 29 31.5
ty 8;&5’3& ' ‘ 1@“ J 20 22.5
_ ¢ e K 31.5 34
N | oL 66 73
! M 11 11
Ll | N 235 26
L P 3 3
Phman Q 7.5 9.5
- B R 4.5 5.5
Release S:J't. —i I ~ ) :- S 18 17
. T 14.5 15
T , V) 15 18
1 v 09 12
Of ¥ \JL ! W 07 09
¥ : X M10x1 M12x1.5
P LA @ Y(HexxDepth) |  5x4 x5
7 / J 7 16 18
Lock port. -~ = Hyd. Port, G1/8 G1/8
SPECIFICATIONS. TAPER ANGLE * 6 6
Lock cyl. area. cm2 2.03 2.36
Full stroke. mm 13 13
Swing stroke. (90" rotation) mm 5 5
Locking stroke mm 8 8
At lock. cm3 2.6 3.07
S, ohne At release. ___cm3 2.9 6.38
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kg. 08 | 1.0
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.[0301-0081 | 0301-0091
K . Model 90° LH.|0301-0082|0301-0092
—!
/% \ K 315 | 34
S B M4 M5
x - - - - C+0.2 36 40
\/ e D 31 35
<3 J E 23.5 26
Release Port. F 16 18
m&. G 3 3

CLAMP LEVER TABLE (WITHOUT SLEEVE) FOR 0301 & 0302

RH- Clockwise
rotation for
locking.

LH- Anticlockwise
rotation for
locking.

0601

152

0602

0501

Mi6

27
75

B3

0502

0401

105
58
M12

0402

0301

19
M10

915
50

0302

0201

0202
19
17

0101
0102

855
35
16
175
12

0091

0092
14
12
18

0081

0082
1"
13
10
15

90° RH.

Model PO

n thread

(Specifications subject to change)




DESIGNATION

Hydraulic

SWING CYLINDER (Top Mount)
(Double Acting)

0301

PRODUCT CODE

DESCRIPTION :

Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping
LH: Counter-clockwise rotation for clamping

Chromium plated piston rod
Alloy steel body
Flange Mounting

RH- Clockwise
rotation for

\l\ockmg.

)

Min Operating Pressure : 1Mpa L_! LH.
Max Operating Pressure : 12Mpa 1H- Antislockwise
ORDERING METHOD. rotation for
PRODUCT CODE—MODEL NO locking.
Eg. 0301—0101.
90° RH.|0301-0101|{0301-0201(0301-0301|0301-0401|0301-0501| 0301-0601
| Model 90° LH.|0301-0102]0301-0202|0301-0302|0301-0402|0301-0502| 0301-0602
S| Tperiiog R ™ A 122 1375 | 145 1715 | 185 243
m: 5 - B 61 69 81 92 107 127
| 2B - C 52 60 70 80 95 120
T D 48 55 65 75 90 105
Hydriaullc "
e[ Ll E 80 87 93 108 114 149
& o F_—“;W—q) Mz F 52 59 63 71 74 99
=| g j G 28 28 30 37 40 50
L H 35 39 46 52 59.5 67
L o N J 26 30 35 40 47.5 60
atachéa, ' K 40 47 55 63 75 88
= oL 83 88 106 116 136 152
M 11 11 12 12 16 17
?p* N 30 33.5 39.5 45 525 60
’ P 3 3 3 3 3 4
B Q 9.5 11 11 14.5 17.5 20
Release Port. H J R 55 6.6 6.6 9 1 14
S 18.5 17 18 22 22 24.5
A = T 16 19 20 23.5 25 30.5
3_% v 22 25 30 36 45 55
- v 14 20 20 26 32 38
2= N[ - W 12 12 12 14 14 17
—= X M16x1.5 | M16x1.5 | M20x1.5 | M30x1.5| M36x1.5| M45x1.5
! — @ Y (Hex,xDepth) 6x6 8x6 10x8 10x8 10x10 12x10
Z 22 24 30 32 35 40
Lock port. Hyd. Port, G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
SPECIFICATIONS. TAPER ANGLE | 6 6 6 6 1 11
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90° rotation) mm 6 8 8 9.5 1 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 7 13.2 25.2 42.3 102.6 151
Cyl. volume. At release. __cm3 12.5 20.9 37.1 68.7 127.8| 1995
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. 1.3 | 18 | 27 | 42 | 55 | 9
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.|0301-0101 | 0301-0201|0301-0301{0301-0401 | 0301-0501| 0301-0601
90° LH.|0301-01020301-0202|0301-0302|0301-0402|0301-0502| 0301-0602
K . 8B Model
rd K 40 7 55 63 75 88
/- \ S B M5 M6 M6 M8 M10 M12
X + - = C+0.2 48 55 65 75 90 105
\/ - D 45 50 60 70 85 100
> E 30 33.5 39.5 45 52.5 60
F 22 24 30 32 37 45
Remwc G 3 3 3 3 3 4
Lock port.

(Specifications subject to change)




DESIGNATION PRODUCT CODE
SWING CLAMP CYLINDER P-TYPE 0301-P
DOUBLE ACTING
DESCRIPTION : RH- Clockwise

Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod
Alloy steel body
Flange Mounting

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

| ORDERING METHOD.

% rotation for

' locking.
1] \

)
X

il /
i, &

LH- Anticlockwise
rotation for

lm e locking.
Eg. 0301-0101-P
Model No 0301 0081 0301 0091
®PB
thread Full Stroke 135 14.5
B HE Swing Stroke(%0°) 55 6.5
=l B ™ Vertical Stroke 8 8
A 102 13
o 2Q B 49 54
C 40 45
: D 36 40
&l 1= ” E 64.5 715
F 395 46.5
Fu 62.5 66.5
o G 25 25
W H 29 315
J 20 225
K 314 34
L 66 73
B M 1 1
J Nx 235 26
Ny 8 9
b =N : P 3 3
} Q 7.5 9
alae] o +} 7 R 4.5 5.5
P ) 16 15
| 2 'S 15 18
_ Z(Chamfen) Q c3
K EA (Nominal X Pitch} M4x0.7 MS5x0.8
PA 7 8
PB 13.5 16
PC 6”8’0‘8 6 .39%;3
PD g 1
PE 21 24
PF 22 25
PG 15.5 16.5
PH (Nominal X Pitch) M3X0.5 M3X0.5
JA 35 35
JB 14 14
Lock Port/ STD G1/8 G1/8
Release Port
LOCK CYL AREA (sq. cm) 26 | 3.07
O-ring (PORT) STD STD i
Cylinder Capacity | Lock 4.8 73
om’ rRelease 7.2 109
Mass kg 0.7 09

PRODUCT CODE ~MODEL

(Specifications subject to change)




DESIGNATION PRODUCT CODE

SWING CYLINDER (Top Mount) 0301- P
Hydraulic (Double Acting)

RH- Clockwise
rotation for

3§ \l\ocking.

DESCRIPTION :

Double Acting Swing Clamp

90° Rotation (RH or LH)

RH: Clock wise rotation for clamping :
LH: Counter-clockwise rotation for clamping
Chromium plated piston rod T—\ »
Alloy steel body
Flange Mounting

]
S —

Min Operating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

LH- Anticlockwise

ORDERING METHOD. rotation for
?PB PRODUCT CODE—MODEL_NO locking.
thread  |Eq. 0301-0101—P
= s Hsl 90° RH.|0301-0101|0301-0201|0301-0301(0301-0401(0301-0501( 0301-0601
i L o Ve 90° LH.|0301-0102|0301-0202|0301-0302|0301-0402|0301-0502| 0301-0602
o a U Model
A 122 137.5 145 171.5 185 243
- 2Q B 61 69 81 92 107 127
L C 52 60 70 80 95 120
n D 48 55 65 75 90 105
ol T i L]m - E 80 87 93 108 114 149
< - ;_99 MIEZ E 52 59 63 71 74 99
L il G 28 28 30 37 40 50
N k H 35 39 46 52 59.5 67
b O'{*if,‘gd : ' J 26 30 35 40 47.5 60
N . K 40 47 55 63 75 88
¢{D oL 83 88 106 116 136 152
M 11 11 12 12 16 17
N 30 33.5 39.5 45 52.5 60
B 3 3 % 3 D 4
B Q 9.5 11 11 14.5 17.5 20
H J R 5.5 6.6 6.6 9 11 14
S 18.5 17 18 22 22 24.5
V) 22 25 30 36 45 55
: PG 16 18.5 20 23.5 25 30.5
PF 25 30.5 32 40 46 55
) T PE 23.5 29 30.5 38.5 44.5 53.5
= f PH Thread M4 M5 M6 M6 M8 M8
PD 10 12 15 16.5 20 24
: ¢ PB 20 23 28 34 43 53
¢PC H8 8 10 12 12 16 20
| PA 10 12 14 16 22 26
Z 22 24 30 32 35 40
SEECIFIEATIONS, Hyd. Port] G1/8 G1/8 G1/4 | Gi/4 | Gi/4 | Gi/4
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90° rotation) mm 6 8 8 9.5 11 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 7 13.2 25.2 42.3 102.6 151
G e At release. __ cm3 12.5 20.9 37.1 68.7 127.8_ 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MP. 10.5
Operating temp. ‘C 0-70
Weight. Ka. 1.3 | 18 | 27 | 42 | 55 | 9
MACHINING FOR MOUNTING CLAMP. 90° RH.|0302-0101|0302-0201 | 0302-0301|0302-0401|0302-0501 | 0302-0601
90° LH.|0302-0102|0302-0202|0302-0302(0302-0402| 0302-0502| 0302-0602
K __, B Model
i \ K 20 47 55 63 75 88
/ \ SR B M5 M6 M6 M8 M10 M12
x - - - B C+0.2 48 55 65 75 90 105
\\/ o D 45 50 60 70 85 100
O J E 30 33.5 39.5 45 52.5 60
— W F 22 24 30 32 37 45
F ol o G 3 3 3 3 3 4

(Single Acting Cylinders available on request. Please contact nearest Dealer) (Specifications subject to change)




DESIGNATION

Hydraulic

(Double Acting)

SWING CYLINDER (Bottom Mount)

PRODUCT CODE

0302

DESCRIPTION :

Double Acting Swi
90° Rotation (RH

ng Clamp
or LH)

RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated
Alloy steel body
Flange Mounting

piston rod

Min OPerating Pressure : 1Mpa
Max Operating Pressure : 12Mpa

ORDERING METHOD.
PRODUCT CODE—MODEL
vl Eg. 0301—0101.
- l | ‘ 90° RH.|0302-0081 | 0302-0091
3: | I Model 90° LH.|0302-0082|0302-0092
= \ | | A 95 111
A ' | B 49 54
~ & — 1 c 40 45
Tl | D 36 40
) = | o E 64.5 75
" = 179202 F 39.5 50
| ’ G 25 25
[ H 29 31.5
— | , J 20 22.5
ow\\ | i K 31.5 34
W »T == | | | & oL 66 73
= i ; L1 M U 11
f N N 23.5 26
OL% i e | P 3 3
e —— i — Q 7.5 9.5
e B R 4.5 5.5
Release Port. ] H s 18 17
li 14.5 15
: v 15 18
[ Vv 09 12
o x| W 07 09
L. X M10x1 M12x1.5
- Y (Hex,xDepth) 5x4 6x5
X Z 16 18
Laeki Pk ' Hyd. Port| G1/8 G1/8
SPECIFICATIONS. TAPER ANGLE 6 6
Lock cyl. area. cm2 2.03 2.36
Full stroke. mm 13 13
Swing stroke. (90° rotation) mm 5 5
Locking stroke mm 8 8
At lock. cm3 2.6 3.07
Cyl. volume. At release. cm3 4.9 6.38
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. 0.8 | 1.0
(Single Acting Cylinders available on request. Please contact nearest Dealer)
MACHINING FOR MOUNTING CLAMP. 90° RH.|0302-0081 | 0302-0091
K - Model 90° LH.|0302-0082|0302-0092
—|
g K 315 | 34
/- \ SIS B M4 M5
x + - - - C+0.2 36 40
k/ - D 31 35
g3 E 23.5 26
Release Port. F 16 18
rlijﬁiét G 3 3

S
3
<
2
2
§
g
o
=
?
3

RH- Clockwise
rotation for

W \lockmg.

LH- Anticlockwise
rotation for

locking.
= | 0| |4
22 (RB|812[8|5|o
«
sl (B|R(8|3 2%
oo
i N
58 |alxle(s|e/S|o
g% 8|S |3(R[3|8(e
i N
Sl |18=5[3S|8|R|«
i N «
SE 22338 |8]«
oo
i N ~
g2 [2[=[38|R(E«
2l |o(2g)2(=2].
oo
g B
2R |=eleek kS
.
[=]
=
FB
FC
I (o)
& ! o
£~ i -
I s
Tr—-
FD - =
FA

(Specifications subject to change)




DESIGNATION PRODUCT CODE

SWING CYLINDER (Bottom Mount) | 0302
Hydraulic (Double Acting)

RH- Clockwise
rotation for

W \lockmg.

DESCRIPTION :
Double Acting Swing Clamp |
90° Rotation (RH or LH) |
RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod @
Alloy steel body

Flange Mounting

Min OPerating Pressure : 1Mpa L_! LH.
Max Operating Pressure : 12Mpa 1H- Anfislockise
ORDERING_METHOD. rotation for
OEUET CONE-ACORL locking.
Eg. 0301-0101.
90° RH.|0302-0101 ] 0302-0201] 0302-0301[0302-0401[0302-0501 | 0302-0601
Model | 90° LH-[0302-01020302-0202 0302-0302| 0302-0402 0302-0502 | 0302-0602
; | A 122 137.5 145 171.5 185 243
B 61 69 81 92 107 127
e 52 60 70 80 95 120
N D 48 55 65 75 90 105
- X o E 80 87 93 108 114 149
h e F 52 59 63 71 74 99
| i G 28 28 30 37 40 50
* __PQ H 35 39 46 52 59.5 67
- , J 26 30 35 40 47.5 60
[[Pore 2 K 40 47 55 63 75 88
O ¥ i l oL 83 88 106 116 136 152
i = / iR M 11 11 12 12 16 17
\ | N 30 33.5 39.5 45 52.5 60
oRie i P 3 3 3 3 3 4
R Q 9.5 11 11 14.5 17.5 20
P R 55 6.6 6.6 9 1 14
TN S 18.5 17 18 22 22 24.5
T T 16 19 20 23.5 25 30.5
1 1] 22 25 30 36 45 55
Vv 14 20 20 26 32 38
= W 12 12 12 14 14 17
| X M16x1.5 | M16x1.5 | M20x1.5 | M30x1.5| M36x1.5| M45x1.5
{ ; Y (Hex,xDepth) 6x6 8x6 10x8 10x8 10x10 12x10
P Z 22 24 30 32 35 40
e BRr - - Hyd. Port] G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
SPECIFICATIONS. TAPER ANGLE 1 6 6 6 6 11 11
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90° rotation) mm 6 8 8 9.5 1 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 7 13.2 25.2 42.3 102.6 151
Cyl. volume. At release. __cm3 12.5 20.9 37.1 68.7 127.8| 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. 1.3 | 18 | 27 | 42 | 55 | 9

(Single Acting Cylinders available on request. Please contact nearest Dealer)

MACHINING FOR MOUNTING CLAMP. 90° RHJ0302-0101]0302-0201]0302-0301]0302-0401]0302-0501] 0302-0601
90° LH.|0302-0102|0302-0202|0302-0302(0302-0402 | 0302-0502| 0302-0602
K B Model
rd K 40 7 55 63 75 88
/- \ ¢l g B M5 M6 M6 M8 M10 M12
x + e C+0.2 48 55 65 75 90 105
\/ . D 45 50 60 70 85 100
% E 30 33.5 39.5 45 52.5 | 60
P F 22 24 30 32 37 45
1 F -G
i G 3 3 3 3 3 4

(Specifications subject to change)




DESIGNATION PRODUCT CODE
SWING CLAMP CYLINDER P-TYPE 0302-P
DOUBLE ACTING
RH- Clockwise
DESCRIPTION : o i ¥ rotation for
Double Acting Swing Clamp | | | RH. locking.
90° Rotation (RH or LH) 11 \
RH: Clock wise rotation for clamping
LH: Counter-clockwise rotation for clamping
Chromium plated piston rod = i
Alloy steel body
Flange Mounting 1k /
Min Operating Pressure : 1Mpa L_,l LH. &
M perating P :12M . .
ax O g Pressure pa LH: Asiticlockwise
ORDERING METHOD. | rotation for
o '“I locking.
BH threaq IE9-0301-0101-P .
D Model Np 0301 0081 0301 0091
= @PC _HB Full Stroke 135 14.5
o, It
- L D Swing Stroke(90%) 55 6.5
; Vertical Stroke 8 8
A 102 13
he
o l B 49 54
| c 40 45
D 36 40
41) E 64.5 715
{ F 395 46.5
£ Fu 625 66.5
I G 25 25
| H 29 31.5
e J 20 225
4] K 314 34
- L 66 73
D
—"‘5"— M 1 1
Nx 25 2%
J Ny 8 9
P 3 3
Q 75 9
R 4.5 5.5
S 16 15
U 15 18
Z (Chamfer) C2 c3
EA (Nominal X Pitch) M4x0.7 M5x0.8
PA 7 8
PB 13.5 16
Pé w'6".8;018 6 .'gn'a
PD 9 n
PE 21 2
PF 22 25
PG 15.5 16.5
PH (Nominal X Pitch} M3x0.5 M3x0.5
A 35 35
B 14 14
Lock Port/ STD G1/8 G1/8
Release Port
LOCK CYL AREA (sq.cm) 28 oz
0O-ring (PORT) STD STD
Cylinder Capacity |Lock 4.8 73
cm? |Release 7.2 109
Mass kg 0.7 0.9
ORDERING METHOD.
CODE~MODEL uol

(S_pecincations sut_:j_ect to changi) Al




DESIGNATION PRODUCT CODE

SWING CYLINDER (Bottom Mount) | 0302- P
Hydraulic (Double Acting)

RH- Clockwise

DESCRIPTION : - o rotation for
Double Acting Swing Clamp | <\ locking.
90° Rotation (RH or LH) | | | \

RH: Clock wise rotation for clamping A A

LH: Counter-clockwise rotation for clamping
Chromium plated piston rod T T
Alloy steel body
Flange Mounting

Min Operating Pressure : 1Mpa l__1| LH.
Max Operating Pressure : 12Mpa

LH- Anticlockwise
ORDERING METHOD. rotation for

PRODUCT CODE—MODEL NO locking.
PH thread Eg. 0302—0101—P

J”Pi/ 90° RH.[0302-0101[0302-0201 [ 0302-0301[0302-0401]0302-0501 | 0302-0601
= 7= 9PC H8 90° LH.[0302-0102[0302-0202|0302-0302(0302-0402 | 0302-0502 | 0302-0602
- - o Frlats Model
a - A% A 122 1375 145 1715 185 243
' B 61 69 81 92 107 127
W C 52 60 70 80 95 120
= D 48 55 65 75 90 105
\ o E 80 87 93 108 114 149
F 52 59 63 71 74 99
gy " oD* G 28 28 30 37 40 50
H 35 39 46 52 59.5 67
N ' Q J 26 30 35 40 47.5 60
K 40 47 55 63 75 88
’ | l | gL 83 88 106 116 136 152
. | T}}& 1 Lt M i 11 12 12 16 17
- :I; o N 30 335 39.5 45 52.5 60
= | L 1 P 3 3 3 3 3 4
y TN A Q 9.5 11 11 14.5 17.5 20
ks = R 55 6.6 6.6 9 11 14
attached, B S 18.5 17 18 92 22 24.5
T g U 22 25 30 36 45 55
PG 16 18.5 20 23.5 25 30.5
iy Bact PF 95 30.5 32 40 46 55
T PE 23.5 29 30.5 38.5 44.5 53.5
1 PH Thread| M4 M5 M6 M6 M8 M8
ol 2| ~ PD 10 12 15 16.5 20 24
| Clanp ¢ PB 20 23 28 34 43 55
: gPC H8 8 10 12 12 16 20
PA 10 12 14 16 22 26
Z 22 24 30 32 35 40
SPECIFICATIONS. Hyd. Port.| G1/8 G1/8 G1/4 G1/4 G1/4 G1/4
Lock cyl. area. cm2 5 8 14 19.7 O1:2 40.7
Full stroke. mm 14 17 18 215 23 28.5
Swing stroke. (90" rotation) mm 6 8 8 9.5 11 12.8
Locking stroke mm 8 9 10 12 12 16
c At lock. cm3 7 13.2 98.2 42.3 102.6 151
yl. volume.
At release. cm3 128 20.9 G745 68.7 1278 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 105
Operating temp. °C B=70
Weight. Kg. 1.3 | 18 | 27 | 42 | 55 | 9
MACHINING FOR MOUNTING CLAMP. 90° RH.[0302-0101[0302-0201[ 0302-0301[0302-0401]0302-0501 [ 0302-0601
p 5 e 90° LH.[0302-0102 [0302-0202|0302-0302|0302-0402 | 0302-0502 | 0302-0602
-
_g_ ¢/ K 40 47 55 63 75 88
1 -
/ \ Ql g 2 M5 M6 M6 M8 M10 M12
x + SN B B e C+0.2 48 58 65 75 90 105
\J D 45 50 60 70 85 100
o Z: S f E 30 335 39.5 45 52,5 60
Rdmm ' F 29 24 30 32 37 45
F ol g G 3 3 3 3 3 4

(Single Acting Cylinders available on request. Please contact nearest Dealer) (Specifications subject to change)




DESIGNATION PRODUCT CODE
SWING CYLINDER 0303
SINGLE ACTING
RH- Clockwise
DESCRIPTION: mE I tor
1. SINGLE ACTING ] \
2. ALLOY STEEL BODY
WITH ANTI RUST COATING N
3. FLANGE MOUNTING @
4. MAX PRESSURE : 12MPa
5. MIN PRESSURE : 1 MPa : I p /
L
LH- Anticlockwise
oU rotation for
- ORDERING METHOD. o
L A _ | PRODUCT CODE-MODEL CODE
] EG: 0303-0481
90° RH.| 0303 0361 0303 0401 I =2 | =
o oo N
Tqper 1/10. { \ Model [T H| SR | ez 2[R [2e|ee a8 ’ C
°Q A 95 11
55 N B 49 54 ©
-] ] 2 b = 2l [Slejs8ldRlx (e
T — L: D 36 40 °I°
L T E 64.5 75 .
< J r_—_-:_h.’l\ o i | ~
S S A ey — 95 29 a (R [Besraeyzs
| /4
) LR H 29 315 o3
“1 | o=k - J 20 22.5 N LL= o
attochtd. K 315 34 § 213 >3 a'am|§ 2|58
- oL 66 73 -
M 1 1 1
4 N
| s 25 1 I ° EE [RgRjepm 88
Q@Das E
B Q 7.5 9.5
r - R 4.5 5.5 . Q
il S 18 17 gg l3|82|=ih#§;a
L @ T 8 T 14.5 15
N v L
\// = U 15 18 ol 1 A
Ll " ” Y 09 12 5 g |§ <1l :mlgﬁ'!s
P =23 X M10x1 | M12x1.5 5
i T 3R (3(8]=|2(m o8l
" K Hyd. Port] G1/8 | Gi/8 3 1
TAPER ANGLE 1 6 6 = 25
Lock cyl. area. cm2 2.03 2.36 =Y I=
Full_stroke. mm 13 13 E 3°[° o=
Swing stroke. (90" rotation) mm 5 5 2
Locking stroke mm 8 8 a I
At lock. cm3 2.6 3.07 g
Ot vowame: At release. cm3 4.9 6.38 3_, £
Max. operating pressure. MPa 7 4 :: J
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kg. 08 | 1.0 /
¥ . QP
o
MACHINING FOR MOUNTING CLAMP. 90° RH.|0301-0081 ) 0301-0091 1 . LA
90° LH.|0301-0082 | 0301-0092 g &
K B Model P

gC
gD

+
o
N

—~& 315 | 34 £ b
\ M4 M5
X + - - >—H . 36 40
\J ] 31 35
Z:% 235 26
Release W 16 18
El o

QMMOoOO WX

3 3

(Specifications subject to change)




DESIGNATION PRODUCT CODE
SWING CYLINDER 0303
SINGLE ACTING
DESCRIPTION:
1. SINGLE ACTING
2. ALLOY STEEL BODY
WITH ANTI RUST COATING
3. FLANGE MOUNTING |
RH- Clockwise
4. MAX PRESSURE : 12MPa M gH, N\ [otation for
- ocking.
5. MIN PRESSURE : 1 MPa A \ ¢
X
+ il
= L LH
LH- Anticlockwise
> Tgper 1/Q { \ ?Q rotaltfl;on for
X I - locking.
-1 3
@ — = 90° RH.| 0303 0481 03030551 | 0303 0651 0303 0751 0303 0901 0303 1051
o — — Model 90° LH.| 03030483 0303 0552 0303 0652 0303 0752 03030902 | 0303 1052
T Tt A 122 1375 | 145 1715 | 185 243
= |
P Mz B 61 69 81 92 107 127
=| c 52 60 70 80 95 120
4 D 48 55 65 75 80 105
N - E 80 87 93 108 114 149
Ll
OrRing | = - - F 52 59 63 71 74 99
G 28 28 30 37 40 50
4 H 35 39 46 52 59.5 67
J 26 30 35 40 47.5 60
K 40 47 55 63 75 88
oL 83 88 106 116 136 152
M 11 11 12 12 16 17
Bm i N 30 33.5 39.5 45 52.5 60
= | == P 3 3 3 3 3 4
- Siim = Q 9.5 11 11 14.5 17.5 20
l 7 == \ R 5.5 6.6 6.6 9 11 14
O 1 O S 185 | 17 18 22 22 245
/ \ T 16 19 20 23.5 25 30.5
- U 22 25 30 36 45 55
O RE 5 v 14 20 20 26 32 38
== / w 12 12 12 14 14 17
,/f\ [ } X M16x1.5 | M16x1.5 | M20x1.5 | M30x1.5| M36x1.5| M45x1.5
, O _|_ ADFY Y (HexxDepth) |  6x6 8x6 10x8 10x8 10x10 [  12x10
i K Hyd. Port] G1/8 | G1/8 Gi/4 | Gi/4 | Gi1/4 | Gi/4
TAPER ANGLE 1 6 6 6 6 1 11
Lock cyl. area. cm2 5 8 14 19.7 31.2 40.7
Full stroke. mm 14 17 18 21.5 23 28.5
Swing stroke. (90" rotation) mm 6 8 8 9.5 11 12.5
Locking stroke mm 8 9 10 12 12 16
At lock. cm3 & 13.2 25.2 42.3 102.6 151
Ol volume. At releass. _om3 125 | 209 371 | 687 127.8| 199.5
Max. operating pressure. MPa 7
Min. operating pressure. MPa 1.5
Design pressure. MPa 10.5
Operating temp. ‘C 0-70
Weight. Kg. 1.3 | 1.8 | 27 | 42 | 55 | 9
" MACHINING FOR MOUNTING CLAMP. 90° RH.[0301-0101|0301-0201|0301-0301|0301-0401|0301-0501| 0301-0601
a 90° LH.[0301-0102 (0301-0202|0301-0302|0301-0402|0301-0502| 0301-0602
S K o8 Model
< & K 40 &7 55 63 75 | 88
é’ \ S B M5 M6 M6 M8 M10 M12
= X - - - B C+0.2 48 55 65 75 90 105
E a \ i D 45 50 60 70 85 100
9 g <3 E 30 33.5 39.5 45 52.5 60
2k g o mTA_N F 22 24 30 32 37 45
£ 38 2P [l G 3 3 3 3 3 2
S0 .
SEQ

(Specifications subject to change)




DESIGNATION PRODUCT CODE.
LINK CLAMP CYLINDER 0402
Hydraulic  (Double Acting)

DESCRIPTION :
Double Acting Flange Mounting
LH,RH & Centre Port Configurations Min Operating Pressure : 1Mpa
Chromium Plated Piston Rod Max Operating Pressure : 15Mpa
Alloy steel body
c 0402 0361 | 0402 0401
X | X
Model.| RH | 04020362 | 0402 0402 312 |gls|ele|s|s|2lo|e|t]o |||
LH | 04020363 | 04020403
A 79 87.5
B 50 54 X% 2w D= |© | = —|©O|—|m|N|wn
A, BC , . BD c 41 45 3|3
' AH ’ D 36 40
iR E 54 56 .
F 29 31 SR Elalsl=|s|a|gle|2|8]e]8|2 |
G 25 25
H 29.5 31.5
J 205 225 él§ gmmowmwm :: v o
™M —|=|N| = N =N |||~ | |2
K 31.5 34 o
i L 68 73
L
| <M 11 11 x|
\ N 235 26 S I EET 1 E PR 1 5 S Y )
e P 3 3
Q 7.5 9.5
1 R 45 55 éé w || 0|0 |0 |m g e @
Ly bl % V|~ |~ |O |~ |~ |+ |~ |©o|m|w©
S 18 15 = IPF
o
T 27 305 g
U 10 12 o x| &
1 P ol o~ o o K720 el
[ Vi 225 25 ggg RI¥ o |T ¥ 2|6 |8|S i |0
) W 30 05 | x
5 X 20 22 =
. : . Y 10 12 BlEIE [ele|elw]ol2lElo]2]E]2(2w]o
H J - |©]o
= = Z 19 21 8
| M spotfece ZA 16 8|2
\ 4/@} Hyd. Port G 1/8" CiE | g 23 i i
I 1 N /X AA 14.5 16 = — c|a|o|lo|eo|o|lc|l-|c|lal-|a|-|>
g ©f— | i AB 5 5 i
SR 7= i N AC | 5 5 m| =
STRSEN] I ("/;‘}}—1.—'—%10 & N AD 6 5 o J
o =SS VN1 R . AE AE AE | S i
-==f N n | —im7 O :
! oL Dy . o L I
M ! Lever. AG°® 19.6° 20.2° i
" CHEE 6 |
' RH Al Al AJ |
K 2 r
= s BA 10 12 s ! %} si
BB 12.5 14 | .
BC BC BC i \2‘4
SPECPFICATIONS. BD BD BD : NRIEE
I 'S HEE
i ay g g,"_’
L4 | < (zb Frif
Lock cyl. area. cm? 38 49 d 1 v 182
Full stroke. mm 185 20 b < 2 gg
Locking stroke. mm 15.5 17 &
Extra stroke. mm 3 3
Cyl. volume. At lock. cm® 59 8.33
Atrelease. cm?® 47 6.4
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. C 0-70
Weight. Kg. 0.72 1.15
MACHINING FOR CLAMP MOUNTING. A 314 34
A B B M4 M5
C +02 36 40
< + __g___%____ D 30 35
iy E 235 26
ST F 16 18
Desmepen .06 G 25 25

(Single Acting Cylinders available on request. Please contact nearest Dealer) (Specifications subject to change)




DESIGNATION PRODUCT CODE.
COMPACT LINK CLAMP CYLINDER | 0402
Hydraulic  (Double Acting)

DESCRIPTION :
Double Acting Flange Mounting
LH,RH & Centre Port Configurations Min Operating Pressure : 1Mpa
Chromium Plated Piston Rod Max Operating Pressure : 15Mpa
Alloy steel body Light weight
Integrated Hinge Mechanism
C 0402-0481 0402-0551 0402-0651 0402-0751 0402-0901 0402-1051
MOdel . RH 0402-0482 0402-0552 0402-0652 0402-0752 0402-0902 0402-1052
LH 0402-0483 0402-0553 0402-0653 0402-0753 0402-0903 0402-1053
A 101 112.5 129.5 153 182 21
8D B 61 69 81 94.5 11 127
= C 51 60 70 85 100 120
D 48 55 65 75 90 105
E 62 67 75.5 86 103 117
F 34 39 455 49 63 67
G 28 28 30 37 40 50
H 35.5 39 46 52 61 67
‘ J 255 30 35 42.5 50 60
L K 40 47 55 63 75 88
l;(J L 83 88 106 116 136 152
j M 11 11 12 12 12 15
A N 30 335 395 45 52.5 60
s P 3 3 3 3 3 4
Q 9.5 11 11 14 17.5 20
Ly R 5.5 6.8 6.8 9 11 14
S 17.5 15 155 19.5 19 245
T 35 375 45 55 65.5 i
- U 14 16 18 22 28 355
v 29 315 37 45 52 62
w 34.5 35.5 39 48 52.5 64
B X 26 30 35.5 43.5 52.5 64
h H J - Y 13 16 19 25 28 32
= = Z 21 28 37 40 49 64
A | sastcega ZA 2 2 30 32 37 45
4x0 Hyd. Port. G1/8 G1/8 G1/4 G1/4 G1/4 G3/8
! N e Wasr /& AA 18.5 21 245 30 36 44
] - @1 AN AB 6 8 10 1 13 16
A =11 | AC 6 6 8 10 12 15
Of x : AD 6 8 10 12 15 18
{ AE 924 101.9 1114 130.8 146.5 173.6
| ‘ Link AF 51 53.5 59 72 81 98
Lever. | AG® 18.9 19.9 20.5 21.4 224 23.1
AH 43 4.7 4.3 4.5 5 4.1
Al 61.2 "7 78.7 90.8 104.6 1225
BA 12 16 19 22 25 32
BB 16 20 25 32 38 45
BC 235 29 32 375 415 51
SPECIFICATIONS. BD 6 8 10 11 14 17
Lock cyl. area. cm? 7.07 9.62 15.9 23.7 33:2 442
Full stroke. mm 23.5 26 29.5 35 41 49
Locking stroke. mm 20.5 23 26.5 32 38 46
Extra stroke. mm 3 3 3 3 3 3
Atlock.  cm® 14.5 2213 4214 75.85 126.2 203.35
Cyl. volume.
Atrelease. cm?® 11.33 17.5 354 63.8 102.6 167.7
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. C 0-70
Weight. Kg. 15 18 25 4.2 6.5 10.2
MACHINING FOR CLAMP MOUNTING. A 40 a7 95 63 75 88
A B B M5 M6 M6 M8 M10 M12
C+0.2 48 55 65 75 90 105
< + 4+ ) D 45 50 60 70 85 100
W E 30 335 395 45 52.5 60
e F 22 24 30 32 37 45
26 G 3 3 3 3 3 4

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LINK CLAMP CYLINDER 0403
SINGLE ACTING
DESCRIPTION LH, RH & CENTRE PORT CONFIG
SINGLE ACTING CHROME PLATED PISTON ROD

ALLOY STEEL BODY WITH ANTI RUST COATING MAX PRESSURE : 15MPa

FLANGE MOUNTING MIN PRESSURE : 1 MPa
C 0403 0361 0403 0401
| x
Model.| RH | 04030362 | 0403 0402 812 olelslzlslollzlelele |
LH | 04030363 | 04030403
A 94.5 1035
B 50 54 § P
S |2 25185 |- IB]= 2|82
" = A C 41 45 S13
D 36 40
AH
E 64 70 B
T F 39 45 NEE =|gl|alsl=|2|z]2|2|2|
#é G 25 25
2 S 75_ Bl H 25 315
d | > “
5 .. ‘C§ FH ¢ - 2 o 218 |8l2|ale|s|2|s|o|o (]2l |
] N 1 _ K 315 % Sle
.| 8 5 w . L 68 73
N v o
= ] N, 235 26 W0 2R l=|= 5|5 || |S]|e|o|e| =
fredc \BMJ =
:;\/ B B < P 3 3
© ) Q 75 95
g L[ ol ||] x| % w
2 pu NI 111 R 45 55 g%’ 3.“12@2'2‘.‘.‘no‘.‘3o:§oc
o/ S 18 15 N i
w o
ond W T 2z N5 | I
" U 10 12 :g EES “ o .
o0 v 225 25 ggz g o ) PP g o] acd PO ok -3 i i) PPN S
w 30 30.5 g
X 20 22 = halll
B Y 10 12 §:§§ elelelalo(e|S]al2|E]2(8] o o
= A F Z 19 21 <
= Tt} = tT)
G LH ; o3
¥ Hyd. Port. G118 61 | ZI82 | |
S Spdtlece ) AA 145 16 g —_— = cle|lolsldeslal - o
< Q
N 4 AB 5 5 G| 3
| AC | 5 5 Gl =
: AD 6 6 2 J
L psi; Cl &~ AE AE AE < :
(&)
P A R BT |
a ever. ) ) ) X o : -
VA AH 5 6 |
w/ H
Lack ool g\
/ Al Al AJ !
<5 BA 10 12 | | \& -
RH | 4.
T BB 125 14 i S g
BC BC BC 1 Q
" SPECPFICATIONS. BD BD BD ,i‘ g a gsu
HiH ] [
Lock cyl. area. cm? 3.14 38 T ¢ H
Full stroke. mm 185 20 o < 2 gg
Locking stroke. mm 155 17 &
Extra stroke. mm 3 3
Cyl. volume. At lock. cm? 49 64
Atrelease. cm?® 3.65 45
Max. operating pressure. MPa
Min. operating pressure. MPa
Design pressure. MPa
Operating temp. °C
Weight. Kg. 0.72 1.15
MACHINING FOR CLAMP MOUNTING. A 314 34
A 8 B M4 M5
C «2 36 40
> D 30 35
E 235 26
i 1 F 16 18
Mo F
26 G 25 25
ORDERING METHOD.
PRODUCT CODE—-MODEL NO
Eg. I

(Specifications subject to change)




ALLOY STEEL BODY WITH ANTI RUST COATING MAX PRESSURE : 15MPa

DESIGNATION PRODUCT CODE
LINK CLAMP CYLINDER 0403
SINGLE ACTING
DESCRIPTION LH, RH & CENTRE PORT CONFIG
SINGLE ACTING CHROME PLATED PISTON ROD

FLANGE MOUNTING MIN PRESSURE : 1 MPa
C 0403 0481 0403 0551 0403 0651 0403 0751 0403 0901 0403 1051
MOdel . RH 0403 0483 0403 0552 0403 0652 0403 0752 0403 0902 0403 1052
LH | 04030483 | 04030553 | 04030653 | 04030753 | 04030903 | 0403 1053
A 114 1325 147 175 207 243
B 61 69 81 945 111 127
n - - c 51 60 70 85 100 120
N D 48 55 65 75 90 105
E 75 87 93 108 127 149
i 47 59 63 7 88 99
G 28 28 30 37 40 50
N - 355 39 46 52 61 67
2 / S 8 J 255 30 3% 425 50 60
/ g/ 1 JqJ K 40 47 55 63 75 88
aNE & L 83 88 106 116 136 152
\f\\\ﬂ 1 # M 11 1 12 12 12 15
—— 21 o I N, 30 335 39.5 45 52.5 60
e — 11 P 3 3 3 3 3 4
4 [ T o ] Q 95 1 1 14 175 20
* L iy R 55 6.8 6.8 9 1 14
ot/ : S 17.5 15 15.5 19.5 19 245
ket N T 35 375 45 55 65.5 77
e u 14 16 18 2 28 35.5
#0 Vv 29 315 37 45 52 62
w 345 355 39 48 52.5 64
X 2% 30 355 435 525 64
B Y 13 16 19 25 28 32
:‘ A7 Z 21 28 37 40 49 64
A LH
Nk Hyd. Port. G1/8 G1/8 G1/4 G1/4 G1/4 G318
e e AA 185 21 245 30 36 44
AB 6 8 10 11 13 16
| AC 2 3 8 10 12 15
AD 6 8 10 12 15 18
&[N AE | 924 1019 114 1308 1465 1736
i Link AF 51 535 59 72 81 a8
Lever. | AG® 189 199 205 214 224 23.1
AH 43 47 43 45 5 4.1
Al 61.2 7.7 78.7 90.8 104.6 1225
BA 12 16 19 22 25 32
CI] 16 20 25 32 38 45
BC 235 29 32 375 415 51
SPECIFICATIONS. BD 6 8 10 1 14 17
Lock cyl. area. om? 53 8.0 126 196 312 407
Full stroke. mm 235 26 295 35 41 49
Locking stroke. mm 205 23 %5 2 38 46
Extra stroke. mm 3 3 3 3 3 3
S wihime: Atlock. ¢ 125 20.9 371 68.7 1186 199.5
Atrelease. cm® 89 15.7 296 55.4 932 151
Max. operating pressure. MPa 7
Min. operating pressure. MPa 0.5
Design pressure. MPa 10.5
Operating temp. °C 0-70
Weight. Kg. 15 18 25 42 65 102
MACHINING FOR CLAMP MOUNTING. A 40 47 55 63 75 88
A E B M5 M6 M6 M8 M10 M12
C+0.2 48 55 65 75 90 105
D 45 50 60 70 85 100
- 30 335 395 45 525 60
- 2 24 30 32 37 45
G 3 3 3 3 3 4
ORDERING METHOD.

E;llﬂl’ CODE~MODEL NOI

(opaciicadons suffjact-f0.change) |




LASYS

DESIGNATION

LINK CLAMP CYLINDER HIGH FORCE
DOUBLE ACTING

PRODUCT CODE

0407

LAYOUT DRAWING

JA

-y

Release Port G 1/8 Thread

Pug /
Lock Port G1/8 Thread

H
-3
g
#| </ 1-9AD
? |
f 3
1
T ¥ ] )
‘g B »
| R B &3
> S| g8V
N el —

Al
ﬂi\"
:>.E
) —
Lock PpﬂQE_/
4-CA Screw

Remove all burrs

/

,‘?

-

ORDERING METHOD.

PRODUCT CODE~MODEL NO

Eq. 0407 0361

F+2.0

APPLICATION

LINK CLAMP 2.3 times higer froce for same pressure,
hence allowing smaller sizes to be used. Space saving

NOTES
SAFTEY :
Operating Pressure :

Min Working pressure: 10bar

Max Working pressure: 80 bar

Model No.
Cylinder Force (at 7 MPa)
Clamping Force
(Calculation Formula)
Holding Force
(Calculation Formula)
Full Stroke
Idle Stroke
Reserve Stk
Cylinder Lock
Capacity cm® | Release
Max. Operating Pressure
Min. Operating Pressure
Withstanding Pressure
Operating Temperature
Usable Fluid
Mass

Model No.
Full Stroke
Idle Stroke
Reserve Stroke
Recommended Lock Position |

2IBEBIRBEIN<xE<c4uw2pvZFFZrx-xonnmon x>

CA (Nominal X Pitch)
JA
JB
ZA (Chamfer) |
Mass kg

PORT CODE

CENTRE : 0XX1

kN

kN

kN

mm

mm

mm

MPa
MPa
MPa

<

=

0407 036x
35

F=(5.5P)(L-12)

Fr=0.89 X Fau

17.5
155
2
73
59

0407 040x
4.8

F=(13.4P)/(L-15)

Fr=0.92 X Fax

19.5
175

2
115
9.3

6
0.5
9.0

0~70

0407 048x
76

F=(25.1P)i(L-16)

Fr=10.93 X Fae

225
205
2
21.0
17.5

General Hydraulic Oil Equivalent to ISO-68

0.7

0407 036x
175
15.5

2
16
105
49
40
36
745
495
25
29
20
314

1
235

max.3
75
45
155
27
10
225
30
20
n
19
145
743
473

196
M4x0.7
35
14

0.7

0.9

0407 040x
195
175

2
175
175
54
45
40
825
575
25
315
225

72
1
26

max.3

55
15
305
12
25
305
2
13
21
16
777
502

202
M5x08
35
14
aG
09

14

0407 048x
225
205

2
205
133

61

51

48

92

64

28
355
255

81
12
30
1n
max.3

55
16
35
14
29
345
26
14
2
185
924
61.2

189
M5x0.8
35
14
aG
14

0407 055x
11.6

F=(43P)(L-19)

Fn=0.95x Fa

25

23
2

336
28.6

19
(mm)
0407 055x
25
23

23
1455
69

55
98.5
705

28

39

30

47

88

12
335

12

max.3

n
68
135

38

16
315
355

30

18

N

21

1019
n7

199
M6 X1
35
14

19

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LINK CLAMP WITH CLAMP SENSING 0408
DOUBLE ACTING
APPLICATION
LINK CLAMP CYLINDER WITH CLAMP CONFIRMATION b
AIR SEAT sensor operation
OPERATION
Connect the LINK CLAMP as normal. INPUT AIR at 2 bar
in alternating positions (clamp & de-clamp)
Supply input oil @ higher pressure into INLET PORT- CLAM
Air is “ON" at de-clamp side thus giving signal at CLAMP pos
Supply OIL to de-clamp side with AIR INPUT on clamp side
AIR Sensor indicates PISTON in DE-CLAMP pos.
NOTES:
Operating Pressure :
Min Working Pressure: 5bar ROSTCOnE
Max input pressure: 150 bar CENTRE : 0XX1
Air Input Pressure : 2-4 bar LeFT ioxa
Please provide air only in port at a time..
‘ MODEL CODE | osoosox | 0408 0a8x 0408 055x 0408 065x
g Cylinder Area for Clamping om’ 531 707 9.62 159
Clamping Force {Calculation Formula) *#! [ 5 764 X P [ F= 11.76 X P . o 18.18X P e 35.06% P
kN L-16 185 21 L-24.5
Cylinder Capacity ‘ Clamp 108 16.6 250 468
m! ‘ Unclamp 856 ' 130 ' 158 377
Full Stroke mm 205 235 26 285
T Clamp Stroke mm 17.5 ' 205 ' 23 265
o — Extra Stroke mm 4 3 [ 3 ‘ 3 3
St [ o2 < H’:"‘i’"""" Maximum Operating Pressure MPa: 70
" SRV ; - Minimum Operating Pressure #2 MPa 1.5
N NHM:A ~ % <
! ‘ * 4 Withstanding Pressure MPa 105
« od o
‘ MODEL CODE 0408 040x | 0408 048x | 0408 055x | 0408 065x
P
Full Stroke 20.5 235 | 26 29.5
A 8 ClampStroke | 175 | 205 | 23 2.5
b—H - Extra Stroke 3 3 3 3
‘ —t— A | @5 | 85 | 10s 124.5
[ | ' B 4 | 61 | 6 .| &
Unclamp Port:G Thread C 45 ‘ 51 60 70
D 40 | 48 | 55 65
: 9 | 645 | 65 705
: 34 36.5 37 405
G 5 | 28 28 30
il H s | 355 | 39 46
: J 225 255 30 35
K EE 47 55
L 72 81 88 106
m n_ | w [ w 13
2G Thread Plug Nx 26 | 30 | 335 395
Ny 9 11 ‘ 12 15
Clamp Port:G Thread P 3 3 = 3 = B
Q 9 1 1
R 55 | 55 | e8 | 68
S 15 16 135 16
1 xionn SO T s | 1 | ws s
; i U 12 A 14 ‘ 16 20
o) / A v 3 | 2 315 37
S of P w 305 | 345 | 355 | 39
A Y 1em0 | |/ | 2Chamfer2 X 2 | 2% | 3 | 35
gl— T\ S Y 13 ; 13| 16 19
[ T A— @ —Ne z | 21 | 24 [ 28 37
$- 1/ e s Chamfer 1 [ a6 | a6 | a 4
Bl ~~_ =4 X X o Chamfer2 | @ | @ | @& Cs
2 U s AA 6 185 21 245
= [ AB 77 92.4 101.9 ma
~ 5 AC 50.2 61.2 717 78.7
= et 3 AD =% [ & [ % 3
< — t___ | | I 3 AE | 6 | 6 | s 10
= L i i A6 202 189 | 199 205
AL i g } EA (NominalXPitch) = M5X0.8 M5X0.8 M6X1 MBX1
T : A FA . 408 | 49 | 56 66
g?'gg’fmﬁmﬁm/‘”_‘ \\Q;Bing(lnd;g@ed_)_@@ FB | a0 486 | | B
t FC oo | 12 | 15 15
1 \ O-Ring (included) DC FD . 406 | 486 | 556 65.6
| FE 30 32 ‘ 30 30
. FF | 345 | 3| 35 41
$D-32 JA 35| 3§ | s 45
7,1 —— I e | e 14 19
CODE-~MODEL NO Clamp Port : G Thread G1/8 Gi/8 G1/8 G/

PRODUCT
Eg. 0408 0481

Unclamp Port: G Thread

(Specifications subject to change)




DESIGNATION

SEQUENCE VALVE

Hydraulic (External Port)

PRODUCT CODE

0501 0101

26.6

G1/4" Outlet port

-k

49

41

61

f7an\)
N\
J7an\Y
24

©
106

~_G1/4" Inlet port
75 36

DESCRIPTION :

Compact design

Cartridge type Insert

Space saving mounting

GY, Port available on manifold
Alloy steel body

External Piping Option

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa

APPLICATION

Used in circuits to operate
multiple actuators in a particular
Pressure dependant sequence.

Used for positioning and creating
delays in actuation.

Compact design allows for direct

Hydraulic (Internal Port)

21 mounting on the fixture.
©
ORDERING METHOD.
PRODUCT CODE—MODEL NO
Eg. 0501-0101.
DESIGNATION PRODUCT CODE
SEQUENCE VALVE 0501 0201

Alr Hole

210x2

26.6

G1/4” Outlet port

41

106

49

61

75

D)
Z

~_G1/4" Inlet port

=30.8=

DESCRIPTION :

Compact design

Cartridge type Insert

Space saving mounting

GY, Port available on manifold
Alloy steel body

Internal Piping Option

Min Operating Pressure : 1Mpa
Max Operating Pressure : 15Mpa

APPLICATION

Used in circuits to operate
multiple actuators in a particular
Pressure dependant sequence.

Used for positioning and creating
delays in actuation.

Compact design allows for direct
mounting on the fixture.

ORDERING METHOD.

PRODUCT CODE—MODEL
Eg. 0501—-0201.




DESIGNATION
DOUBLE PILOT CHECK VALVE
(Manifold connection included)

PRODUCT CODE
0601 0101

24.75

ORDERING METHOD.

PRODUCT CODE—MODEL NO
[Eg. 0601-0101.

b4
'1
I o
55 g
|
6

DESCRIPTION :

Compact design

Space saving mounting

GY4 Port connectors available on manifold
QRC connection possible on manifold
Alloy steel body

Min Operating Pressure : 1Mpa
Max Operaing Pressure : 15Mpa

APPLICATION

Used in circuits to retain oil under
pressure inside the circuit once the Power
source is cut

Provision for direct connection of Inlet &
Oulet lines

Compact design allows for direct mounting
on the fixture base

—
> <
—

(Specifications subject to change)




Compact design

Can be directly mounted on to individual
elements like cylinders or work supports
No External speed control required

Easy Individual adjustment possible
Alloy steel body

Available in G¥%, G¥%,G% sizes

Max Flow allowed : 10lpm

STD G 1/4" BSP

H

ORDERING METHOD.

PRODUCT
Eq. 0701-0102.

CODE—MODEL NO.

|
OIL FLOW |
PATH

DESIGNATION PRODUCT CODE
FLOW CONTROL VALVE 0701
Hydraulic  (Internal Mounting)
DESCRIPTION : APPLICATION
Compact design
Can be directly mounted on to individual
elements like cylinders or work supports
No External speed control required
Easy Individual adjustment possible f
Alloy steel body .
Available in G¥%, G¥,G% sizes j "
|
Max Flow allowed : 10lpm : | | |
IEQ'
=AY
-
! |
18 MAX |
STD G 1/8” BSP | T ‘H
55 OIL FLOW | | | |
z ) | | |
, | | |
| | |
N B
ORDERING METHOD.
PRODUCT CODE—MODEL NO
[Eg. 0701-0101.
DESIGNATION PRODUCT CODE
(us:vs FLOW CONTROL VALVE 0701
Hydraulic  (Internal Mounting)
DESCRIPTION : APPLICATION

N
| N

(Specifications subject to change)




DESIGNATION PRODUCT CODE

ROTARY JOINT 0801
HYDRAULIC OIL MEDIUM

DESCRIPTION:

1. COMPACT DESIGN

2. SINGLE SCREW MOUNTING AS STANDARD
3. MAX PRESSURE : 15 MPa

4. MIN PRESSURE : 1 MPa

5. FLOW RATE UPTO 22.5LPM

6. MULTIPLE INPUT PORT OPTIONS

7

8

9

1

. FLANGE MOUNTING OPTIONS AVAILABLE

. MAX RPM : 500 (OPTIONAL UPTO 6000 RPM)

. SPECIAL COATING FOR JOINTS USING COOLANT
0. WORKING TEMPERATURE UPTO 100°C

APPLICATION :

*CONTINUOUS CONNECTION FOR OIL / AIR/ COOLANT * IN ROTARY AXIS LINE

*CONNECTION FROM EXTERNAL POWER PACK TO BOTH PALLETS ON AN HMC OR VMC WITH ROTARY
PALLET CHANGER

*CONNECTION TO MULTIPLE SIDES OF A STRUCTURE FOR OIL

APPLICATION EXAMPLES :

Fixture Rotary indexing table
—— —_— .‘\u
r T B \ = =7
1 I \ |
I 1 \ |
{ \
NN
T P — - L L.ﬂ__g—
| :
t6
Anti-rotation key Rotary coupling

On Rotary Table On Angle Plate Fixture

ORDERING METHOD.

PRODUCT CODE~MODEL NO.
Eg. 0801 0101

(Specifications subject to change)




( LASYS

DESIGNATION

ROTARY JOINT
HYDRAULIC OIL MEDIUM

PRODUCT CODE

0801

2 PORT ROTARY JOINT LAYOUT

o il
gL
I
o g 1.8
O —— - | o
S = —F =
u -
— S
0-L4° |
N | 1948
. 66.47/ _
4A4PORT ROTARY JOINT LAYOUT
92
71.7
| A | C
@ 9 [
g 3 9

20 B!

ORDERING METHOD.

PRODUCT CODE~MODEL NO
Eg. 0801 0101

(Specifications subject to change)




( LASYS

DESIGNATION

ROTARY JOINT

HYDRAULIC OIL MEDIUM

PRODUCT CODE

0801

6 PORT ROTARYI JOINT LAYOUT

g Y D —
J1l $
iR
5 11
60.15 41 41
173
8 PORT ROTARY JOINT LAYOUT
[T 11 1 N i1 a5
bt Tt T bt
] o =~ = = = 2 g g
il i i |
5 N 5 M 5 RO 5 N =

ORDERING METHOD.

PRODUCT CODE~MODEL NO
Eg. 0801 0101

(Specifications subject to change)




Max. Clamping Force, axial (kN) : 8.5
Max. Clamping Force, Radial(kN): 85
Max. Operating Pressure (Mpa) : 10
Clamping Range of Collet (mm) : @ 01-26
Max. Oil Flowrate (cm3/s) : 20

Max. Oil volume/clamping stroke (cm3): 1.5
Weight (kg) : 4.3

DESIGNATION PRODUCT CODE
COLLET VICE 0901 0101
Hydraulic (Tenon Mounting)

DESCRIPTION : APPLICATION :

Used in circuits to clamp work pieces
by Pull Down method

Can clamp a wide range of components
ranging from squares to hex shaped
Compact design allows for direct
mounting on the fixture, even multiple
loading

Single Acting.Collet is reset by spring.

ORDERING METHOD.

PRODUCT CODE—MODEL NO
Eg. 0901-0101.

95 855
o |
‘ |
3 @—G} — - - ®
|
2 |
122
100201
50%0.1 50%0.1
950
A | | ¢ \ /
\ Il —
f+ | ‘W | | + ~1 — 1 —] 0
| N e = T
1 — = ©
S R = ol
T~ Q | L
=S| \| | \ 112]
00 _ 11 1| N |
R Lo | =
| '
| | |
& ] | |
N
1 1 9 | 1| © l N r
20H7 L o
| 160 _ 50
: / \
(9}
N
o M _ /+ _ /AR
0 N &\J P
(g}
N
70%0.1 70%0.1

i

(Specifications subject to change)




DESIGNATION PRODUCT CODE
TIE ROD CYLINDER 1001 0101
Hydraulic

MES - Head Mounting ME6 Cap Mounting MT1 - Head Mounting MT2- Cap Mounting MT4- Mounting with

Rectangular

Rectangular

MX2- Cap Mounting
Tie Rods Extended

Specifications
¢ Max. pressure - 160 bar.

¢ Max reciprocating speed - 12 m/min.

MX3- Head Mounting
Tie Rods Extended

¢ Break-away pressure - 3 to 5 bar.

¢ Standard cushioning length - 20 mm.

Integral Trunnion

MP1- Cap Mounting
Fixed Clevis

Integral Trunnion

MP3- Cap Mounting

Fixed Eye

Intermediate Fixed Trunnion

MS2 - Mounting
with Side Lugs

¢ Minimum cushioning speed - 400 mm/min or less adjustable.
¢ Cushioning is available from 63 mm bore onwards only.
¢ For Bronze filled teflon seals, min. speed without stick-slip - 5 mm/min.

— | 7,A = 1} I 3 K - Y -—
Basic Cylinder
EE LIS "'% CE ./f SPY —el !_ - f- @ f9
f_f'_ H A - Jj WA_A o
= = il " 1 [ L |
‘xLx > '
N N =
b=
- | 7
~= . - KK
—t:—\_‘ = = = —] 1) - A ‘~—
| - 5.0
el -—
| - —
ZB STROKE -

BORE ROD A B D E EE GF J KK NA PJ TG | WH| Y ZB
25 12 14 24 10 40 1/4" 35 20 M10x1.25 1" 53 28.3 15 | 50 | 121
40 18 | 28 | 18 | 28 | 30 | 42 | 15 | 22 63 3/8" 39 30 | M14x15 [M20x1.5 | 17 | 26 73 41.7 25 | 62 | 166
50 | 22 | 36 | 22 |36 | 34| 50 | 18| 30 | 75 1/2" 40 32 |M16x15 | M27x2 |21 | 34 | 74 523 | 25 | 67 | 176
63 | 28 | 45 | 28 |45 |42 | 60 |22 | 36 | 90 12" 37 32 |M20x15 | M33x2 | 26 | 43 | 80 64.3 32 71 | 185
80 | 36 | 56 | 36 | 56 | 50 | 72 | 30 | 46 | 115 3/4" 44 38 M27x2 | M42x2 |34 | 54 | 93 82.7 31 77 | 212
100 | 45 | 70 | 45 | 63 | 60 | 88 | 36 | 60 | 130 3/4" 43 38 M33x2 M48x2 |43 | 68 | 101 | 96.9 35 | 82 | 225

(Specifications subject to change)




DESIGNATION
TIE ROD CYLINDER
Hydraulic

PRODUCT CODE

1001 0101

FEATURES :

Min operating pressure : 0.5Mpa

Max operating pressure : 16Mpa

High finish on cylinder tube for long
seal life

All cylinders conform to ISO standards
Cushioning available from Higher bore

(263) only.

How to Order :
CL-(bore)x(stroke)x(rod@)-(ending)

eg: CL-25x400x16-MX3

APPLICATION ;

Used to clamp work pieces using Push or
Pull method

Can clamp a wide range of components
Can be used in assembly automation.

Design allows for direct mounting
on the application.

Various combination of endings &
Mountings are possible.

Hard Chrome Plated & Ground Piston for
improved working life

Use of International quality seals for
increased life of cylinder

MES5 - Head Mounting Rectangular

T ﬁ_’ 1—;
|

BORE| ROD F FB R RD TO|UO (WF
25 12 10 | 65 | 27 38 51 65 | 25
40 |18 |28 | 10 11 41| 62 (62| 87 | 110 | 35
50 |22 |36 | 16 14 52 | 74 | 74 | 105 | 130 | 41
63 |28 | 45 | 16 14 65 | 75| 88 | 117 | 145 | 48
80 |36 |56 | 20 18 83 | 82 |105| 149 | 180 | 51

100 |45 |70 | 22 18 97 | 92 1125| 162 | 200 | &7

BORE | E FB J R TO | UO zJ

25 40 55 | 20 27 51 65 114

40 63 1 30 41 87 110 153

50 75 14 32 52 105 130 159

63 90 14 32 65 17 145 168

80 115 18 38 83 149 180 190

100 | 130 18 38 97 162 | 200 203

BORE | TC TD uT XG ZB
25 38 12 58 44 121
40 63 20 95 57 166
50 76 25 116 64 176
63 89 32 139 70 185
80 114 40 178 76 212
100 127 50 207 71 225

(Specifications subject to change)




LASYS

DESIGNATION

TIE ROD CYLINDER

PRODUCT CODE

1001 0101

Hydraulic
SorE 56 =5 TS =3 =8 MT2- Cap Mounting Integral Trunnion
25 38 12 58 101 121
40 63 20 95 134 166 0 FH
50 76 25 116 140 176 -
63 89 32 139 149 185 : ﬂl—“
80 | 114 40 178 168 212 - B
100 | 127 50 207 187 225 =1 _ D
= L = 78 + _STROKE .
[Bore[TD [ Tm [ um [ uw | xv | zB
25 |12 | 48 | e8 | 63 121
a0 |20 | 76 | 108 | 92 | @ [ 166
50 |25 [ 89 [ 120 | 2| § [ 178
63 | 32 | 100 | 150 | 126 | 2 | 185
80 | 40 | 127 | 191 | 160 E 212
100 | 50 | 140 | 220 | 180 225
[BorRE[ AA [ BB DD E | 16 | zJ
25 | 40 | 19 | M5x08 | 40 | 283 | 114
40 | 59 | 35 | mex1 | 63 | 417 | 153
50 | 74 | 46 [m12x125 | 75 | 523 | 159
63 | 91 | 46 [M12x1.25 | 90 | 643 | 168
8o |17 | 59 [ Mm1ex15 | 115 | 827 | 190
100 [137 | 59 [ mM16x15 [ 130 | 969 [ 203
BORE[ AA | BB DD E | Te | 24
25 |40 | 19 | msxo08 |40 [ 283 | 114
40 |59 [ 35| mex1 [e63 | 417 | 153
50 | 74 | 46 [m12x125 | 75 | 523 | 159
63 | 91 | 46 [m12x125 | 90 | 643 | 168 )
80 | 117 | 59 | M16x15 | 115 | 827 | 190 - % . ——
100 [ 137 | 59 | m16x15 [130 | 969 [ 203
MP1- Cap Mounting Fixed Clevis
Bore] A [cB[co[cw|[E [ L [mr[xc cw—] | )
25 | 14 | 12]10] 6 |40 [13]12]127 1 Al o i
40 |18 28| 20 | 14| 10 |63 | 19| 17 | 172 ' & | WL
50 [22]36] 30 [ 20] 15 [ 75 [ 32] 29 [ 191 I = a5
63 |28 |45 30 [ 20 15 [ 90 | 32] 29 | 200 5
80 |36]56] 40 | 28| 20 [115 | 39] 34 [ 220 - .
100 |45 [ 63| 50 | 36 | 25 [130 | 54| 50 [ 257 —{CB- i
- » XC + STROKE -
BORE| A co| E |EwW]| L [MR] xc D ¢ (H9)—=| |=—
25 14 10 | a0 [ 12 [13 | 12 | 127 .
20 [18 28| 14 [ 63 [ 20 [19 | 17 | 172 LM AN
50 |22 |3s| 20| 75 | 30 |32 |29 10|  —-4+H-—+ LTFp+———-—-11 -
63 |28 45| 20 | 90 | 30 | 32 | 29 | 200
80 |36 |56 | 28 | 115 | 40 |39 | 34 [ 220 T
100 |45 [63 [ 36 | 130 [ s0 | 54 [ 50 | 257 1L

= XC + STROK =

(Specifications subject to change)




DESIGNATION PRODUCT CODE
DIE CLAMP CYLINDER 1101
SINGLE ACTING, SPRING RETURN
[ of
1/4"BSP ‘ o
CLAMP PORT;\\- _________ ) E)\
8 ....... | & “\\7;7/"
s [ 1 | -
) s 0T T ge| A
\ = = \ , r——@d—— | ’
ST e ) TN e
\'\ : grl ;——N \\‘\2 r‘; I\V\"\ | — //TE\ o
‘/) o 5N /“ T it =
/ 45— P 4 e 2j i "
— 45—

PART NO.
FORCE § 50 kN 75 kN 105 kN
OBORE 70 80 94
d 40 40 45
g 87 87 92
f 95 105 125
i 60 74 78
H To be specified

Note : Force @ 200bar

Die clamping cylinder is a pull type, spring return cylinder. An
integral ‘T, suitable to 28 mm ‘T’ slot, is provided to the piston
rod of the cylinder.

APPLICATION
Quick Change of Dies & Tools on Presses

OPERATION

De-Clamp the cylinders

Remove from the circuit (pneumatic / manual)
Replace the tool or die

Replace the cylinder back to original position

Clamp the cylinder

NOTES

SAFTEY :

Use 2 separate cylinders for the 2 diagonals of the tool
Cylinder Stroke : 8 mm. Reserve stroke 3 mm. Clamping
height of tool must be accomodated in this value.
Tolerance : Tmm

Dimension ‘H’ must be specified while ordering

T-slot is of DIN650 std. Please specifiy, if different

Specifications
¢ Maximum operating pressure - 200 bar.




LASYS

DESIGNATION
BALL LOCK MECHANISM

MECHANICAL

PRODUCT CODE.

1201

Application example

DESCRIPTION

Ball Lock Unit consists of

1. Shank (1no)

2. Primary / Secondary Liner (1no)

3. Receiver Bush (1no)

Ball Lock does the function of

a. Location b. Clamping

Location : 2 nos Precision Bushes & Shank combination
Clamping : Taper Seat over expanding steel ball

Application :
SMED CONCEPT IS POSSIBLE

OPERATION

2 Nos Ball Lock for Location & Clamping of plate
2-4 nos Ball Lock for additional clamping force
Primary Liners C.D tolerance to be 0.015mm
Secondary linders C.D tolerance to be 0.05mm
Bore Tolerance for bushes : H7

Fixture Plate

Balls

Subplate or
Machine Table

Shank

Locating Shank
‘ J 'y
Primary Liner s (- > ) o | Primary Liner
Bush \ .} o ] Bush
<0 " o
G ‘ ©
2 ~\. Receiver
1 = (Either Style)
- Mounting at +0.005
For Repeatability £0.04
Locating Shank "
4 u i
Primary Liner Y ! ba Primary Liner
Bush AL @ Bush
o) 1‘ &
[ R
< -, Receiver
| s = (Either Style)
> Mounting at +0.025
Shank

N

]

N

;

Bolt-in Recessed Bush
Subplate Or Machine Table

Mounting Method with
Bolt-in Recessed Bush

Press Fit Hole

QN

NaEEN

Reverse Mounting Bush

- C'Bore
Mounting Method with
Reverse Mount Bush

All dimensions are in mm
Overall dimension tolerance * 0.5 mm

Shank

Max. Max. Screw Fixture
Part No. |Description| Working Torql:ze(N-M) Plate Thick. | A |@B |@C |@D | E
Load (KN) +0.05
1201 0101-01| S-16 x 20 5.3 1.38 20 8 16 32 |36.5
‘ ] 1201 0201-01| S-20 x 20 127 5.40 20 10 | 20 40 |(40.0
\[ s 1201 0301-01| S-25x 25 30.4 12.16 25 10 | 25 45 [49.0
]
L . - - * Do not exceed maximum screw torque
4 =l
!
—B
Liner
Part No. Part No. o Hole Size For
i Primary Description Secondary Description | M N |-0.25 Liner
Liner Liner -0.50
O Min. Max
1201 0101-02 PL 16 x 20 1201 0101-03 SL 16 x 20 25 16 20 | 25.016| 25.026
! 1201 0201-02 PL 20 x 20 1201 0201-03 SL 20 x 20 35 20 20 | 35.018| 35.028
—~ @N = 1201 0301-02 PL 25 x 25 1201 0301-03 SL 25x 25 35 25 25 | 35.018] 35.028
— oM —_— Primary Liner I.D. Is Nominal +0.005/+0.018
Secondary Liner |.D. Is Nominal + 0.025/+0.050
Bolt-in Recessed Bush
-~ oF -
s - -
| Nl 777 s 7 i BORE MIN.
== - " DRILL | DEPTH
T A— YU Ll : 0.00 SUBPLATE | TAP
g i Part No. | Description| F | G H | J K L +0.01 D\I;\_ io‘)szs THICKNESS| Y
34— 1l u X
) s s r’\ | 1+ |1201010104| BB16 37| 16| 11.56 | 45| 44| 20 | 76| 37 165 | 11.91 20 M-4
Sl 21 e % 1210020104| BB20 |45|20|1582|60|54| 35 |95| 45 205 | 16.21 20 M-4
s Machining for Bush 12010301-04] BB 25 55| 25|19.94| 70| 6.4 42| 11| 55 255 | 20.32 25 M-5
Bush
Reverse Mounting Bush
274 o
r—m 0.76x45° _‘ 8 BORE MIN. couieas | BEsT
{ 23 | 72,7 i Y | partNo. | Description] P | @ | R | s | T ﬁ'g; fﬁgib‘;fs BORE +0.025
y I 1 © = ma % 2 ABZ cD
/ N - '/I Qo.% t w
l 7 Lz I o2 v [1201 010108 B16 |681|286| 22| 16 [121] 22 20 29 7.24
e oq— - PAB——— 1201 0201-05| B20 |[681]|322]| 28| 20 |171]| 28 20 33 874
Bush Machining for Bush 1201 0301-05 B25 |[10.27|40.2| 35 | 25 |21.0| 35 25 41 10.54

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LAS Ye PULL DOWN CYLINDER 1301
DOUBLE ACTING
Clamping force Pi Qil Oil
. at 400 bar Stroke H gg’" capacity | capacity| Screw |Mdmax.| Weight
Size No clamp |unclamp 18| clamp |unclamp (4 pieces)
[kN] | [N] | [mm] | [mm] | [cm’] | [cm’] [Nm] lg]
0101 12 45 8 20 25 09 M6x50 17 1500
0201 20 9,6 10 25 4.9 25 M8x60 25 2900
0301 32 12,5 12 32 97 4,0 M10x75 46 4900

Design:

Application:

Pull-down clamps are used wherever the workpiece can only be laterallly clamped but must be reliably
secured on the fixture body. The hydraulic principle enables high pressing and pull-down forces. This clamp
can be used on fixture bodies with manifold-type oil supply. The oil is then supplied through the fixture body.

Sealing is achieved by an O-ring. Fastening is facilitated from above by 4 fasteners.

Features:

Quick and safe return movement, independent of the line lengths or the numbers of elements in the circuit.

Independent horizontal and vertical movement (no locked coupling), giving a true pull-down effect. Lifting of
the clamping jaw is prevented by the location of the clamping bolt right behind the jaw. Suitable for incorpo-

ration in fixtures. New design of jaw connection with rubber buffer ensures a sliding without any play.

Note:

The maximum pull-down stroke of the jaw must not exceed dimension G. Do not overtighten the mounting
fasteners! The maximum permissible torque must not be exceeded. The bottom oil channel is plugged by a

sealing washer and a ISO 4762 - M 5x10 bolt. Minimum operating pressure is 40 bar.

High variability by oil connection on two sides and bottom oil channel. Jaw and hydraulic piston are con-
nected by a joint to prevent the induction of bending forces into the piston, thus increasing the element’s

service life. Pull-down force is equal to approx. 1/3 of the corresponding clamping force.

Cylinder body made of tempering steel, blued. Piston case-hardened and ground. Exchangeable jaws.
Standard version with serrated and hardened jaws. Complete with 4 mounting bolts (ISO), O-ring and oil
plugs, particle wiper at clamping bolt.

0101 0201 & 0301
— 1 0 "
) Rod by g N
- i
LY . o i
o |
o | o £l ] © >
il 2 | '
[B] &) O !
serrated - 3 £ £
A
N i I
©©
L ‘ o -
z . O-ring 9x2,5
1 | x
v $ L F iz
[A] =clamp
3] = unclamp
Size ~A C E F H 0 +0.5 P Q R S T U=01 V w X Z
0101 122 | 40 |12,50| 40 8 405 |365| 85 |G1/8| 45 | 395 | 30 | M6 | 17,0 | M5 | 24,0
0201 156 | 50 [15,25| 50 10 565 | 395|140 |G1/4| 60 |555| 37 | M8 | 185 | M5 | 24,3
0301 167 | 65 |1525| 65 12 640 |428|170|G1/4| 60 |630| 48 | M10|20,5| M5 | 27,5
O-ring
: . . Weight
(included in scope of supply) O-ring
(9]

ORDERING METHOD.

PRODUCT CODE~MODEL NO.
Eg, 1301 0101

9,0x2,5-PU 93 Shore A

(Specifications subject to change)




Description

These Low block cylinders are suitable for clamping work pieces

from the sides where clamping is not possible from top.
Hydraulically operated piston pushes the pivoted leveragainst the
work piece. By positioning the pivotlever it is possible to havea

DESIGNATION PRODUCT CODE
PULL DOWN CYLINDER TYPE 2 1311
DOUBLE ACTING
9, 2
vy Stroke - S
RS
L2 G 1/4" 'T'.';I'. = :
Ve L3|Le
//i L4|
&%ﬂhl% ) Ls|_ |

N Thru, 'C' Bore
oMxdeep,4 Holes

downward force inaddition to horizontal push force toclampthe

work piece firmly on to workrest,

component.

Specification

will be supplied.

Notes

This prevents lifting of

Min./ Max. Operating Pressure 10/250 bar.
The vertical force is approx. 30% of nominal clamping force.

Compact cylinder design.
Cylinder with Manifold mounting is available as optional. O-ring

1) Refer general design notes before selection & use.

2) For Manifold mounting, plug threaded port.

3) Ordering specification for seal kit. Add prefix "SK" to the
model Number.

08

! Important

Keep back pressure in the
system and in the line to
minimum for smooth working
of cylinder.

Standard lever

T

Optional Lever with pressure point
Refer accessories sheet

T or
5 s B3
" A
T @i
B2 B1

Dimension table

All dimensions in mm

Model No 13110101 | 13110201 | 13110301
Force kN @150bar 3.7 7.2 148
@ 250 bar 6.2 12 247
Piston @D 18 25 36
Piston area Sq.cm 2.5 4.9 10
Stroke S + 0.5 8 10 10
Qil Volume cc 2 ) 10
L1 70 90 98
L2 35 40 S0
L3 19 23 | 21
L4 6.5 9 11
L5 5.5 8 8
L6 32 38.5 47
6235 0 | 60 | 80
B1 33 42 45
B2 23 38 38
B3 32 40 56
@M x deep 145x9 | 145x9 | 17.5x 11
BN 9 9 11

Specfications subject to improvements,

ORDERING METHOO.

PRODUCT COOE ~MODEL
Ig. 1311 0101

(Specifications subject to change)




SCHEMATIC SKETCH

DESIGNATION PRODUCT CODE
PALLET DISCONNECTOR 1401
DOUBLE ACTING

APPLICATION:

Used in holding pressure within the circuit while using QUICK
DISCONNECT COUPLERS along with an accumulator

OPERATION:

Connect the QOil lines to the 2 ports provided using the QRC
One Clamp and One De- Clamp line is provided
Accumulator is used to compensate for oil leakages.

- Pressure gauge indicates the line pressure

NOTE:

Min Operating Pressure : 10 Bar

Max Operating Pressure : 150 bar

1/4 & 3/8 BSP sizes provided for lines in order to have fool
proofing of clamp and de-clamp lines

PALLET DECOUPLER

S N\
s s \ ACCUMLATOR
PRESSURE GAUGE !
< CAPACITY-0.32
INTERNAL PIPING PORT
TaN |
N /et OUTLET PORT  INLET PORT
s\ TN ORT
"5 J == = ‘
. ‘ ‘
- S == S . — PO
8d! : B 3’ { ) \ o x
t e ;qv;, i "' .! } '}1> | ‘“ { '—'J “.‘, t| o
ol OO S S S 1 ‘ K \ Jo 2
OUTLET PORT(QRC) f INLET \PORT (QRC) et v il DA I
SizE~Gl/4 18 | gy ] o SIZE{-G3/8 - e
DPCY A4 ! % i
*r ,"1‘1'{:1\ f g |
bl 191 42
NTG BLOCK f J 1
065 m y 7 14
OUTLET PORT . I'oP VIEW

SIZE:-G1/8

ORDERING METHOD.
PRODUCT CODE-~MODEL NO
EJ.

INLET PORT
SIZE:~G1 If‘;

FRONT VIEW

(Specifications subject to change)




DESIGNATION

PRESSURE REDUCING VALVE 1501
HYDRAULIC OIL MEDIUM

PRODUCT CODE

Example of Application:
IN CIRCUIT

\l"
al
Outgolng Pressure Adjusting Screw
(M8 1.25) \ f——— @
= | ) .1. J
= | N P “
\ G5 R
o
65 54 37 33 a
o max30 124
L35
[ i
~)
“ ! ! w1
! s =i AYAYAYS
o] H H
' L
Hex. Hole 4
2-M6X 1 X35 Bolt Included,
-] 20
i @
—| H_ 2%
T H Pey
(S @
CYL. Port [Outgging Pressure Side] / / P{R) Port [Incoming Pressure Side}

O-ring: 1BP11 (Included)

QO-ring: 18711 {Iincluded)

Actuator (D

CH , 3

Reducing Valve

Actuator @

Reduced Pressure

®
Tty

< _H

)

Pressure at the Source

APPLICATION
Pressure reduction without drain in series or after sequence
valve for single or set of cylinders

OPERATION

Connect the ZLPRV in series either with or without sequence
valve

Supply input oil @ higher pressure into INLET PORT

Using the Thumb Wheel / SHCS, adjust the knob so that
desired pressure is shown on connected pressure gauge
Once desired pressure is reached, please engage the
locknut to disable further adjustment

NOTES

SAFTEY :

Operating Pressure :

Min reducion pressure: 20bar

Max input pressure: 150 bar

Intial setting : 1:1 output

Please connect only in series.. not parallel

Model No 1501 0101 1501 0201
Incoming Supply Pressure MPa 20~70 6.0 ~ 30.0
Outgoing Set Pressure  MPa 1.0~6.0 3.0~140
Allowable Minimum Pressure Difference 2 MPa | 1.0 3.0
Withstanding Pressure MPa 10.5 375
Min. Passage Area mm?2 23.3
Operating Temperature °C | 0~70

Usable Fluid

Hydraulic Oil with viscosity 68 centistokes

Mass kg |

15

ORDERING METHOD.
PRODUCT CODE-MODEL NO
Igg. 1501 0101 I

(Specifications subject to change)




DESIGNATION PRODUCT CODE

HOLE CLAMP CYLINDER 1601
DOUBLE ACTING

DESCR'PTION Taper rod

Workpiece
Direct Mounting
2 & 3 Piece Expansion Clamping Kasting sirtsce e
Alloy steel body
Hydraulic Expansion Sleeee
Optional Air seat check sensing Piston® *
Max Pressure : 8.5Mpa e

-
"

Min Pressure: 1.0Mpa

Piston®

oy
PN
>

O &
Clamping Unclamping
hydraulic pressure  hydraulic pressure

Clamping hole — Tapered surface
A

Size I - 4 N1N4 1801 N20 416801 -
Model S . e - - —— ———— e e i
anlnnerdiameterlom1073;07_6 1079 082 085| 09 10 | 1 ﬁz 13 12 13 | 14? 15|16 :
‘ : Taper rod Workpiece
Number of grippers [ 2 Grippers 3 Grippers
Clamping f agel Baael ' ‘
,\H;gf;'g?( 3",21“!8 7MPa) «N 192" 2.24 3.04° 3.54 \ 7.50
e re 3mPa) N 67| 7.8 95" | 1 | 23.4 Seating surface 3 — Gripper
Taper rod stroke mm ‘7 438
Clamp stroke mm | 1.2 Sleeve
Cylinder | Clamp cm’ | 1.7 ; 2.7 \ 5.8 —
Edpachy Unclamp  cm’ 23 _ 35 ‘ 7.2 L
Allowable eccentricity ** mm | +05 [
Rec ded air blov [
_pressure o ot MPa 03
;;S;sosz'r;;e”dm sensor air M?a ; , 0.2 '
Mass kg 0.38 0.50 \ 0.83
Aecommended tightening . : [ [
1orque of mounting screws *? N-m ! 3.5 ‘ 7 ‘ 12 Piston@ = 3>
,,}'i’foiif?if‘fiﬁ'ﬁ”a' | Aluminum.ﬁsteel and others (H@_or below) Cast iron also Eple degendipgﬁonﬂcondiﬁtionsr | l
o diameter mm | 67| 70|73 7679 |82 |87 | 97]107| 1171127 117 127|137 147|157
Alowable max. gripinner  mm | 7.4 | 7.7 | 80 | 83 | 86 [ 92 | 97 107 11.7(12713.7[12.7(13.7 147 [ 157|167
GY‘.U ir‘ne"{(fldrn’eu_:r tapering I ' 3 or bélow ' ' @ {}
e 7 [ m Clamping Unclamping
_ Grip inner diameter cuculan}i ‘ 0.1" or below hydraulic pressure hydraulic pressure
8 - . . :
Number of grippers Grip inner diameter Clamping force
7 1601 0101 | |
70 1.92 kN
o~ o/ {Hydraulic prassure 6M#3)
< 6 = 224 kN
= [zt 673 76 79 82 | >
w i {Hydraulic pressure 7MP)
U 5 ~ i ‘ 2 Grippers ~ -
= 085 3.04 kN
(= 4 * {Hydraulic pressure 6MPa)
'a 3 > / {Hydraulic pressure 7TM2g)
g / Numberofgrippers{ Grip inner diameter | Clamping force
1 | | 1601 9101 11 12 13 3.54 kN .
[/—" [Hydraulic pressure /MPa)
="
0 | 3 Grippers
15 2 3 4 5 6 Z
; 7.50 kN
Hydraulic pressure (MPa) 01213 14 15716 | oo i
2 Grippers 2 Grippers 3 Grippers 3 Grippers
7.0 73 7.6 79 8.2 285910 2111213 212 13 14 15 16

ORDERING METHOD.

PRODUCT CODE-MODEL NO
Eg, 1601-0101-076

(Specifications subject to change)




DESIGNATION PRODUCT CODE
HOLE CLAMP CYLINDER 1601
DOUBLE ACTING
) ®
I IS
NG
S
34
25 2 )
Clamping hydraulic port | ['__”A ‘_“'l es & <
Gf\@ | O-RING INCLUDE! -;:lcmprmmnhmd f 5 . % g i
G 4-M5X0.8 thread through / g 5
e = e et
+ h a Ij
K/ +7 = 4@4.5/' - 2
@ v @ ["‘:.:4-*:-» INAL FOR ‘|l OringEi)"?L’j ]
| AIR SEAT CHECK | 335 \3‘0nn9 P4
mm mm 034 f7 552
Model
€ 070 | 073 | 076 | 079 | 082 085 09 10
E1 7.1 7.1 73 7.5 76 8.3 8.3 8.9
E2 4.7 4.7 47 47 4.7 4.6 46 4.6
@ F3 6.5 6.8 7.1 74 y i 4 8 8.5 95
o F4 6.55 6.85 7.15 7.45 175 8.05 8.55 9.55
S 20.5 20.6 20.9 212 21.5 225 225 235
T 10.6 10.9 11.2 11.5 11.8 12.1 12.6 13.6
o U 20 20.1 204 20.7 21 22 22 23
@ AD 54 5.7 6 6.3 6.6 6.3 6.8 7.8
mm
Model
11 12 13 12 13 14 15 16
E1 94 9.9 104 10.7 10.7 10.7 11 115
E2 4.7 48 49 6 6 6 6 6.1
o F3 10.5 11.5 125 11.5 125 13.5 14.5 15.5
o F4 10.55 11.55 12.55 1155 1255 | 1355 1455 | 1555
2S 245 25.5 26.5 28 28 28 28.5 29.5
T 14.6 15.6 16.6 15.6 16.6 ‘ 17.6 18.6 19.6
o U 24 25 26 27.5 275 27.5 28 29
o AD 8.2 9.2 102 92 | 102 ‘ 12 | 122 | 132

ORDERING METHOD.

PRODUCT CODE-MODEL
IES‘ 1601-0101-076

(Specifications subject to change)




DESIGNATION PRODUCT CODE
BORE CLAMP CYLINDER 1701 &1711
DOUBLE ACTING
DESCRIPTION: N\\\\
1. DOUBLE ACTING \
2. VARIABLE MOUNTING B
3. MAX PRESSURE : 25 MPa H 7 .5{—:
4. MIN PRESSURE : 1 MPa 7% /
5. 2&3 POINT CONCENTRIC CLAMPING
~—— 6. CAST OR MACHINED BORE ' //
7. HIGH REPEATABILITY N L
8. g
= : ]
Clamping Part-no. Part-no.
Qa 2-point 3-point
element element
25- 29 1701 2529 1711 2529
28— 32 1701 2832 1711 2832
_— Clamping 32— 36 1701 3236 1711 3236
36— 40 1701 3640 1711 3640
39- 43 1701 3943 1711 3943
- Unolamping 42 - 46 1701 4246 1711 4246
45— 49 1701 4549 1711 4549
48- 52 1701 4852 1711 4852
51- 55 1701 5155 1711 5155
54— 59 1701 5459 1711 5459
- B .- 8- B3 1701 5863 1711 5863
62- B7 1701 6267 1711 6267
: o — A 67- 72 1701 6772 1711 6772
L E— g} 1 ¥ 71- 76 1701 7176 1711 7176
I l — l 76— 84 1701 7684 1711 7684
a g LR . 83- 91 1701 8391 1711 8391
a Stroke & 90- 98 1701 9098 1711 9098
LN ‘ 98-109 1701 98109 1711 90109
b ) 109-120 1701 109120 1711 109120
f 4 119-130 1701 119130 1711 119130
L_ f o 130-145 1701 130145 1711 130145
e 141-156 1701 141156 1711 141156
152 -167 1701 152167 1711 152167
163-177 1701 163177 1711 163177
130145
MODEL CODE 2529 to 3236 3640 to 5155 5450t0 7176 7684109098 9610810119130 4o 1g3177
Clamping range @ [mm] 25-36 36-55 54-76 76-98 98-130 130-177
Clamping force at 100 bar [kN] 4 4 3 7 11 17
at 250 bar [kN] 10 10 7 17 28 44
Absol. repetitive accuracy of clamping force  [mm)] 0.02 0.02 0.02 0.02 0.02 0.02
Min. operating pressure [bar] 20 20 20 20 20 20
Max. operating pressure [oar] 250 250 250 250 250 250
Oil vol./mm clamping stroke [em?] 0.35 0.35 0.35 0.85 1.39 217
/mm return stroke [em?] 0.15 0.15 0.15 0.50 0.84 1.33
Bolt @ D [mm] 14 14 12 14 18 22
Stroke [mm] 25 25 3 4.5 5) 8
b [mm] 24 35 45 65 85 115
dj6 [mm] 16 16 16 25 32 40
e-0.1 [mm] 45 45 45 60 74 90
f -0.1 [mm] 40 40 40 54 67 81
g x depth of thread [mim] - M8 x6 MBx6 MBx 12 M8x 16 M10x20
h [mm] 64 64 57 68 80 91
i [mm] 28 28 = 41 47 52
K (mm] 6 6 6 6 6 7
| [mm] 8 8 8 9 10 12
m [mm] 51 51 45 56 64 72
n [mm] 66.5 72 65 77 91 105
0 [mm] R6 R6 - R0.5 R25 R2.5
o [mm] 26 286 26 3.1 36 4.6
r [mm] - 29 45 65 85 115
s x depth of thread [mim] MB6x12 M6x12 M6 x12 MB8x 16 M10x20 M12x24
t [mm] 11.3 11.3 11.3 15.6 19.1 23.3
u [mm] 16.8 16.8 16.8 22 27 33
Weight (kg] 0.5 0.7 1.1 1.8 36 7.2

ORDERING METHOD.

PRODUCT CODE-MODEL NO
Eg. 17013640

(Specifications subject to change)




b L L TTTTTTTTYIYON

/ \ £ )
® - @ i '
Direct =+ —=H Mounting =——=H
mounting by flange |
JE ®
/1.2_;]\*'0» Mounting
Lo -y ~F = by flange ; S
O s G1/4 ' |
LN 2 AN NN [ NN \'r, | 7 V ///W—Q-l
I\ SN AN N NN EISNSRNSN N Ny 4§
LIRS NSRS
_.J C - e \v\ ' -
O-ring 2 Cll O-ring 1 6; “‘
A ek
2 O-ring 1
5 P

O-rings for mounting versions ©@ @ ® ®

DESIGNATION PRODUCT CODE
BORE CLAMP CYLINDER 1701 & 1711
DOUBLE ACTING

APPLICATION :

*CLAMPING OF BORE

* TOP & SIDE FACES LEFT FREE FOR MACHINING
*ORIENTATION OF COMPONENT / BLOCK

USABLE FOR SHORT AND LONG BORES

*EASY REFERENCING OF COMPONENT

*POSSIBLE TO LOCATE AND ORIENT A COMPONENT

for elements AH7 B+0.2 C D+02 E F-0.1 G+0.05 H+0.05 K I O-ring 1 O-ring 2
2529 to 5155 16 20.6 3 7.8 8 6 1.3 1.1 5 4 5x1.5 17.17x1.78
5459 to 7176 16 20.6 3 7.8 8 6 1.3 17 5 4 5x1.5 17171x1:78
7684 to 9098 25 30 4 9.8 14 6 25 1.1 6 4 TX3.51:26° %2
98109 to 119130 RNV RENNEC X5 5 108 16 6 1.3 11 7 4 8x1.5 33.05x1.78
130145 to 163177 [ (0] 46.6 5 10.8 18 7 2 1.1 9 4 8x1.5 40.95x2.62
b
Hexagon =5 ! Mounting by flange @
g?ﬁgﬁ(ze‘&’,)_ﬁ, 2 or elements ah7 b c d e f g
S 2520105155 68 15 3 M 6x16 @ 6.6 24.2 14.0
N 5459 to 7176 68 15 3 M 6x16 @ 6.6 24.2 14.0
o ot 7684 to 9098 88 17 4 MB8x20 O 9 320 185
;_ | 90109 to 119130 110 20 5 M10x25 211 39.8 23.0
N 130145 to 163177 130 22 5 M12x25 @135 47.6 27.5
t
b
Hexagon Mounting by flange G1/4 ®
cap screw
DIN 912 {d) eleme ah? b c d e f g
68 30 G1/4 M 6x35 @ 66 24.2 14.0
5459 to 7176 68 30 G1/4 M 6x35 @ 6.6 24.2 14.0
n 7684 to 9098 88 30 G1/4 M 8x35 @ 9 32.0 18.5
90109 to 119130 110 30 G1/4 M10x35 211 39.8 23.0
' 30145 to 163177 130 30 G1/4 M12x35 @135 47.6 27.5

ORDERING METHOD.

Eg.

CODE-MODEL NO
1701 3640 |

(Specifications subject to change)




DESIGNATION PRODUCT CODE
SIDE CLAMP CYLINDER 1801
DOUBLE ACTING
DESCRIPTION: APPLICATION :
1. DOUBLE ACTING *PUSHING OF COMPONENT
2. FLANGE MOUNTING *ORIENTATION OF COMPONENT /
3. MAX PRESSURE : 15 MPa BLOCK
4. MIN PRESSURE : 1 MPa *EASY LOADING AND
5. HARD CHROME PLATED PISTON ROD UNLOADING OF COMPONENT
6. ALLOY STEEL BODY COATED WITH ANTI RUST  *MULTIPLICATION OF CLAMP
COATING FORCE DUE TO LINKAGE

MODELNO 18010361 18010401 18010481 18010551 18010651 18010751
o A | s75 | 635 | 765 | 8 | 97 | 114
54 B 50 54 61 69 81 94.5
%Q /7 (1 e c | a1 | 4 | 552 | e | 7 | 85
A= gy § @D 36 40 48 55 65 75
N ] S E | 38 | 4 | 4 | s53 | 6 | 72
=IN Y F 13 16 21 25 30 35
. | T G | 25 | 25 | 28 | 28 | 30 | 37
B o T 20U - =
ii{“‘"' | I - H 295 315 355 39 46 52
7 | K J | 205 | 225 | 255 | 30 | 35 | 425
JoT T, K 315 34 40 47 55 63
. | 68 | 73 | 8 | 8 | 106 | 116
20 M 11 11 11 11 12 12
8 N | 235 | 2 | 30 | 335 | 395 | 45
@P 3 3 3 3 3 3
De—Clamp Qa | 75 | 95 | 95 | 11 | 11 | 14
e R 4.5 5.5 5.5 6.8 6.8 9
A s | 18 | 15 | 175 | 15 | 155 | 195
T 16 18 215 245 29 335
SRR u | 10 | 12 | 14 | 16 | 18 | 22
v 11.5 12.8 15.5 17.5 21 24
ey w | 3 | 305 | 35 | 355 | 39 | 48
T X 9 10 12 14 16 19
el " y | 0 | 122 | 13 | 16 | 19 | 25
z 19 21 21 28 37 40
zn | 1 | 18 | 22 | 24 | 30 | 32
HYDPORT  G1/8 G1/8 G1/8 G1/8 G1/4 G1/4
AA | 145 | 16 | 185 | 21 | 245 | 30
AB 5 5 6 8 10 11
Ac | s | 6 | 6 | 6 | 8 | 10
AD 6 6 6 8 10 12
AF | 555 | 59 | 68 | 8.5 | 8 | 102
AG’ 38 38 38 40 40 40
AH | 477 | 53 | 64 | 73 | 86 | 10
BA 10 12 12 16 19 22
BB | 22 | 27 | 285 | 33 | 39 | 945
BC 7.5 8.3 9.8 11.2 13.5 15.5
MODEL NO 18010361 18010401 18010481 18010551 18010651 18010751
Cylinder Area sg.cm 2.54 4.9 9.62 12.56 19.62 28.27
Full Stroke mm 6 6 6 10 10 10
Clamp Stroke mm 3 3 3 7 7 7
Reserve Stroke mm 3 3 3 3 3 3
Cylinder vol  |lock cc 7.62 14.71 28.9 87.9 137.3 197.9
release cc 5.3 11.35 16.6 73.9 119.7 171.3
Max Pressure Mpa 15 15 15 15 15 15
Min Pressure Mpa 1 1 1 1 1 1
Max Temp "€ 70 70 70 70 70 70
De-Clamp

ORDERING METHOD.

PRODUCT CODE-MODEL NO
Eg. 1801-0361

(Specifications subject to change)




LASYS

DESIGNATION
CENTERING VICE
DOUBLE ACTING

PRODUCT CODE

1901

Fixture clamp, concentric clamping

max. clamping force 6.5 kN and 9 kN, jaw width 40 and 65 mm

double acting, max. operating pressure 250 bar

Application

The fixture clamps are used for machining of
dimensionally stable workpieces in single or
multiple clamping fixtures.

Due to their compact design they can be
arranged in a very limited space. Fixture clamps
are especially suitable for series manufacturing
in automated mode.

The double-acting cylinder function combined
with central lubrication and good swarf protec-
tion guarantees a high process safety.

Description
The fixture clamp with concentric clamping
function consists of a very slim basic body with
2 integrated hydraulic cylinders.

The piston forces are transfered via a guided
connecting link to the two clamping slides so
that a centric synchronism is obtained.

All threads and ports are at the bottom to allow
a space-saving arrangement of several clam-
ping points in a very limited space.

If fixing from below is not possible an adaptor
plate for manifold mounting or tube connection
is available. As accessory also blanks of clam-
ping jaws are available for adaptation to the
workpiece contour.

Important notes!

The fixture clamp is only suitable for exterior
clamping.

Lubricate at the latest after 500 clamping cycles
the clamping slide via the central lubrication.
Never use the complete clamping stroke to gu-
arantee safe clamping of the workpiece.

Max. operating temperature 80 °C.

ORDERING METHOD.

PRODUCT CODE-MODEL NO.
Eg. 1901 0101 I

Advantages

@ Very compact design

@ High rigidity

@ Retention force higher than clamping force
® Repetitive accuracy +0.02 mm
® 2 sizes

® Strokes 2x 5 and 2 x 8 mm

@ Double-acting function

@ Fixtures without tubes possible
® Exchangeable jaws

® Good swarf protection

@ Port for central lubrication

@ Mounting position: variable

Fixing from above
with accessory adaptor plate
Drilled channels

N
7

Function

Clamping jaw
+— Stroke /

Clamping jaw

jStroke -

Fixing from below

Drilled channels

Connecting insert /

Accessories

Clamping jaws and adaptor plate are not in-
cluded in the delivery of the fixture clamp and
have to be ordered separately as accessory.

Application example

Concentric clamping of 8 flanges on a rotary
indexing fixture.

(Specifications subject to change)




DESIGNATION
CENTERING VICE
DOUBLE ACTING

LASYS

PRODUCT CODE
1901

Clamping force 6.5 kN ¢ Clamping stroke 2 x 5 mm
Technical data * Accessories * Dimensions

Part no. 1901 0101

Clamping force diagram
(Height of the clamping jaw 15 mm)

Technical data Adaptor plate (accessory) = 8 I
Clamping force / jaw [kN] 6.5 Weight kg] approx. 1.9 '57
Retention force [kN] 8 Partno. 1901 0101 28
Release force [kN] 0.5 §
Min. operating pressure [bar] 10 £ 4
Clamping stroke [mm] 2x5 o ,
Repetitive accuracy of )
clamping [mm] x0.02
Jaw width [mm] 40 0
Max. flow rate [cm?/s] 25 0 8 100 150 200 250
Stroke volume Clamping [em?] 6.4 Operating pressure [oar]
Unclamping  [cm? 3.2
Weight [kg] appr. 2.4
Accessory: adaptor plate
View from below
Socket head cap screw M6 x 20
Part no. 3300-225
(included in the delivery)
" 0.ringBx 15
Part no. 3000-275 fincluged in the delivery)
8 8 e 8
2§ ai 2 3o 32 o $unc
e 1IEE 7 R gE e Emmnge
4, < ting insert 9210-1
A = Clamping 14%@ O— © %} SH—14 20,02 033833? i?\':?ss; delivery),
B= Unclamping 12 xD.Og— A s B \1’} 2 =0,02 see also page F 8.300
L 0,02 . Central lubricati
S = Central lubrication 202 Ts 0% o %@ifg i 2:';'”5?» C-ring 3001-B42 (51 i)
14 20.02—— 145 {included in the delivery)
- 505002 | 5052002 | \mmﬂ -
= Stroka 143 Stroke -€—4
! (=003 A1~ - o
— — A £
&
o R
i -~ ®| o= loadiog
40 g | 28 H7 (2
G1/8 (3x)

155 +0,056

[100) Accessory: adaptor plate
Side views

1O 10|

>
>

for socke! head cap screw M6
DIN EN ISO 4762

Accessory: adaptor plate
View from above

Max. height of the clamping jaw X for 4413-051
as a function of the operating pressure

'g a0 1 T —E.;- 130 I
= 70 4 w120
3 60 4 £ 10
2 301 2scmwsMs- 128 g
5 20 4 ordScrews MG - 28 22 § 70
P 5 X
S 104 2 0| 2ecrensME- 129
3 o + + 4 | s 50 or 4 Screws M5 - 8.8
£ 0 % 10 10 20 250 40 a2
Operating tprassure |ber] 5
20
0
0

ORDERING METHOD.

PRODUCT CODE-~MODEL NO
_E_g. 1901 0101 |

Max. height of the clamping jaw X for 4413-151
as a function of the operating pressure

o
S

150 200 250
Cparating pressure [oar]

100

(Specifications subject to change)




LASYS

DESIGNATION

DOUBLE ACTING

CENTERING VICE

PRODUCT CODE
1901

Clamping force 9 kN * Clamping stroke 2 x 8 mm
Technical data * Accessories * Dimensions

Partno. 19010201 Clamping force diagram
(Height of the clamping jaw 25 mm}
Technical data Adaptor plate (accessory) gro [ | i [
Clamping force / jaw [kN] 9 Weight [kal ca, 3.5 g i
Retention force [kN] 15 Partno. 1901 0201 =
Release force [kN] 0.5 §' -
Min. operating pressure [bar] 10 &
Clamping stroke [mm] 2x8 = p
Repetitive accuracy of
clamping [mm] 20.02
Jaw width [mm] 85 -
Max, flow rate [em?/s] 50
Stroke volume Clamping emd 142 ¢ LT . S T A
Weight et o [O[r;ﬂg] app? 'g v Operating pressure fcar)
Accessory: adaptor plate SOCht ead coe Joma MB 20
View from below {included in the deivery)
0-275 {ncluged in the delivery)
y § g g
al?l ﬂ].e IBEE T; o Slé X328 M& x 10 deep {8
- i 24 — e a p—24 20,02
B e = ©LOR E e s
S = Central lubrication ' 0 2 0 ccn‘nechng\nserl 9210-132
~ ’\A {ncluded in the delivery),
16,5 :0.2.;2 __efe e e e 8 185 20,02 see also page F 9.300
— S f—22.5 Central lubrication
24 £0,02 70 20,00 700,02 2 x with O-ring 3001-842 (5x1 mm)
E ! : @40 Hx7 deep (4x) (ncluded in the aelivery)
s = Stroxa s Stroks - %
i =Ty -
n
ol 5
&
i 0.8 7 J0.0a[100]

imissible torques acting on the clamping jaws

Mx = 140 Nm
My = 120 Nm
Mz = 120 Nm

PRODUCT CODE~MODEL NO.
lEg.1901 0101

G1/8 (3x)

a0 4

o 087 [0a100] Accessory:

adaptor plate
Side views

/'MBxIOdeepGBxl

For scckat head cap screw M8
DIN EN 1SG 4762

Accessory
adaptor plate

View from above

Mx = 375 Nm
My = 200 Nm
Mz = 200 Nm

(Specifications subject to change)




DESIGNATION PRODUCT CODE
LASYS AUTO COUPLER 2000 0101
: DOUBLE ACTING
Application

Compared to other coupling elements the
threaded coupling elements are very compact
devices.

If the slide movement of the workpiece carrier
is to be used or if a fixture is to be connected
to the base plate without lines, the threaded
nipple and the coupling mechanisms can be
directly screwed into the parts which are to be
connected. The coupling mechanisms have
the advantage that they are flush-faced in
uncoupled mode.

Flange-type housings are available to simplify
the manufacture of the fixture mounting hole
contours. In cramped conditions it is possible
to make and install the flange-type housing
retrospectively.

M28
T

P16
?18.9
@20

43 8.8 6 10
20
27
ol o T L . | Dl | o
yS IF S8 =
8 2 11.5 6.6
Yy —— |
ITx
o @®
T
] 1.4
37 | 6.6
3
28.8

ORDERING METHOD.

PRODUCT CODE~MODEL NO
Eg. 2000 0101

ASSEMBLY

The fixture bodies which are to take up the
coupling parts have to be guided 2-3 mm in a
parallel motion before they are coupled.

The axial forces which arise during the pressure
build-up in coupled mode (see diagram) have to
be absorbed outside the coupling parts.

The threaded nipples, which are installed into
the tank lines, are equipped with a pre-loaded
valve (VSV). The pre-loaded valve limits a
possible pressure build-up in the return line to
approx. 5 bar by causing internal leakage in the
hydraulic clamping elements. In coupled mode
the pre-loaded valve is not effective.

MALE PIECE

FEMALE NIPPLE

(Specifications subject to change)




RELIABILITY

STRINGENT QUALITY

A" ARAARNRAN A A
R N
%) : ‘

00.1’4'/ 11130 -¢“=fcdrol’

. 3 .

»
» - B

=
&
o
hr
@
=
.-
W
l
R
e
14
>
©
-4
B

I\

I

\ v, \__‘_\‘\g\"\_gg

}

b




)ESIGNATION PRODUCT CODE
WORK SUPPORT 0211
Pneumatic (Threaded Body)
ORDERING METHOD. s
PRODUCT CODE—MODEL. Model No. 0211 0261 | 02110301 | 0211 0361 0211 0451
. 0201-0101. ml Support Force at 0.5Mpa (kN) 0.4 0.525 0.89 1.4
Support Force Formula for
i Operating pressure (Mpa) 1.80XP - 0.5 | 2.25xP-0.6 | 3.38xP-0.8 | 4.8xP-01.0
S — Plunger Stroke - S (mm) A 8 8 10
= PR iy Prca . L.00 2.8~4.1 3.6~5.7 4.7~7.8 5.8~9.7
= TresriEm e 3.8~5.9 4.9~8 6.2~11 7.9~13.6
i E il 0.60 0.90 1.30 2.00
Min Operating Pressure 0.25Mpa
Max Operating Pressure 1.0 Mpa
Weight kg 0.20 0.25 0.35 0.75
A 62 70 80 80
DESCRIPTION - B 24 >7 32 a1
Compact design ac 26 30 36 a5
Manifold Mounted D M26x1.5 M30X1.5 | M36X1.5 M45X1.5
Wide Operating Pressure Range E 53 60 67.5 68.5
Hydraulic Advance 3 7 8 Q 10
Single Acting G 36 42 46 46
@C H 8 9 8.5 10
oU ?) 24.6 28.4 34 43
PBA R 10.7 11.5 13.5 18
2 o T 9.5 9.5 12.5 11.5
LK in| @ ouU 10 12 15 16
- n v 5 5 5.5 6
= i w 8 10 13 14
X M6 M8 M10 M10
W 5 ) OBA 9.5 11.5 12.5 12.5
] BB 4 4 4 4
: BC 8 10 12 13
@CB 24.5 28.5 34.5 43.5
[ cC 16~47 17~50 18~48 21~58
% CD cC -7 CC -7 CC -8 CC -8
| Of W @CF ped 21.4 ped 23.0 ped 27.0 ped 36.0
D @CG 2 2 2 2
! @DA x thick @12x2 914x2 914x2 @20x2
=PAD Dimensions=
QEB 4.9 6 8.2 10
| R W EC M6 M8 M10 M10
= I @ED 2.5 5 5 5.5
= #CG EE 9 10 10 10
O—Ré EF 6 7 8 7
DA EG 2 2 2 2
aJ O-Ring @5x1.5 D4x2 @8X1.5 ?8x1.5
| OFA 2.6 5.0 5.8 5.8
IQ(,,X = OFB 3.6 6 8.5 8.5
o FC 11.5 13 10 12
B S| FD - - 8 8
= . H 8] x FE 2 2 2 2
=/ T FF 18 19 20 20
¢ / Mounting Torque (Nm) 16.0 25 40 63
NOTE. | LOAD GRAPHS MOUNTING DIMENSIONS.
The drawing shows plunger in retracted position
Refer to recommendations for making new contact bolt
Refer to recommendations for mounting torque
Do not exceed recommended torque
Do not exceed recommended working pressure
Plunger Spring & Contact Bolt Dimensions
bl Il
-
0 3 4 5 6 7 8 9 10
9 Pressure in bar
=
a =0=(2110261"9=0211 0301
§ w0211 0361 ==e=(211 0451
(Specifications subject to change)




EQICN A
EQIOINF

SWIN

Pneumatic

(Double Acting)

G CYLINDER (Top Mount)

ROD
WUULU

0311

-

ANE

wJUUL

DESCRIPTION :

Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping
LH: Counter-clockwise rotation for clamping
Chromium plated piston rod
Aluminium body
Flange Mounting

Min Operating Pressure : 0.25Mpa
Max Operating Pressure : 1.5Mpa

PRODUCT CODE—-MODEL
. 0311—-0481.

=

RH

LH

~
N
N

%'\

LH- Anticlockwise
rotation for
lockin

RH- Clockwise

rotation for|
locking.

g.

90° RH.|0311-0361|0311-0401|0311-0481|0311-0551|0311-0651|0311-0751
= Model 90° LH.|0311-0362|0311-0402|0311-0482|0311-0552|0311-0652|0311-0752
A Q5 11 2 137 5 145 171 5
> Tgper 1/30. ’ ‘ ¢a A 99 ‘ 2 137.3 45 | 71.5
B 49 54 61 69 8 92
= \ o 420 AR = A0 70 =~
— ,3§ | & +U 20 Df ou u ouU
! D 56 41 48 93 65 'S
Hyadauic — C ARA & 2L Te 7 Q3 10R
Part. lT c 04.0 /9 ouU o/ 99 108
o ¥ ; : 355 50 52 59 63 71
t 2 -~ ~SC ~NO ~NO - —
= o A ! | 25 25 28 28 30 37
4n H 79 31.5 35 39 26 52
L B N LR J 20 22.5 26 30 35 40
_Ri = »_ e -
OttOC?'I%d. \ 4 _" D _:':". 4 U 47 55 - 3
s oL 66 73 83 88 106 116
M 11 11 11 1 2 12
23.5 26 30 39D 39.5 45
Z Z Z 3 ;
p@l}&l ~ — ,- = - T 2
Q 759 9.5 9.5 4.5
(S} - 1 — — S— —_
J R 4.5 9IS 5.5 6.6 6.6 9
S 18 17 18.5 17 18 22
—t— N
: @.3 I iy ‘@) ! 4.9 3 6 19 20 23.5
[ 0 . A 6 20) 5
Y l J \ L o LN Lo
s T 2 14 20 2( 26
LJ ¥ N kT 'q: A N7 Nna .~ 1~ 3 14
= / W U/ U ¥4 £ < *
X (1 M12x M16x1.5 | M16x1.5 | M20x1.5[ M20x1.5
—/ X v < D v o Vi : ~ v . - s S
/ %3 é?w Y (Hex,xDepth) Sx4 6x5 6x6 8Bx6 10x8 10x8
—] — /) A
K Z 5 18 22 24 30 32
\ck Do Hyd. Po G1/8 G1/8 G1/8 G1/8 G1/4 G
SPECIFICATIONS. TAPER ANGLE | 6 6 6 6 6 6
Lock cy reg m2 3.0 o R e 8 10. 16.5 23.9
Full stroke. 13 13 14 7 B 1.5
Swing stroke. (90" rotatio mm 5 5 A - 8 9.5
| king strok ~ = g < Q 1( 2
A unls At lock cmJ3 2.6 3.07 7 3.2 25.2 e
Fte: XY e A eq -3 1.9 6.38 12.5 20.9 37 8.7
Max. operating pressure MPa
Min erotir assure MP 0.25
Design pressure MPa
operating temg o ¢ 0-7C
w2 ] 5 |9

(Single Acting Cylinders available on request. Please contact nearest Dealer)

MACHINING FOR MOUNTING CLAMP.

90° RH.|0311-0361|0311-0401|0311-0481|0311-0551|0311-0651{0311-0751
Model 90° LH.|0311-0362|0311-0402|0311-0482|0311-0552{0311-0652|0311-0752

B M4 M 5 M :, Mt M6 M8

29.39 26 30 0.3 39.5 45

i 16 - 22 ; 32

3 3 3 3 3 3

(Specifications subject to change)




NCCICANAT
=SSN
VLDISINA

Pneumatic

SWING CYLINDER (Top Mount)
(Double Acting)

DESCRIPTION :

Double Acting Swing Clamp
90° Rotation (RH or LH)
RH: Clock wise rotation for clamping

LH: Counter-clockwise rotation for clamping

Chromium plated piston rod

Aluminium body
Flange Mounting

RH- Clockwise

rotation for

Min Operating Pressure : 0.25Mpa
Max Operating Pressure : 1.5Mpa

PRODUCT CODE—-MODEL
.0311-0481—P"°I

R 0\ locking.
trH—1

PH thre
o
‘ = A=l oPC H 90° RH.| 0312-0481]0312-0551]0312-0651| 0312-0751
i L a - 90° LH.| 0312-0482]|0312-0552|0312-0652| 0312-0752
o a v Model
| A 22 1979 145 171.5
?Q B 6 69 8 92
)
Q. C 52 60 70 80
] = I D 48 55 65 i
| [ RO § 80 87 93 T08
) + Il = 5] ({5 A 7
&« - }_ Lot | e . )2 59 B
iy ! G 28 28 30 37
l { / I — - — —
4 b5e 10 46 5%
& 0Ring J 26 30 35 40
attached. v, 40 27 X B3
=H X — e
b | @D - oL 83 88 06 116
T " 1 — -~ |
N 30 399 39.5 45
! P 3 3 3
B Q 9.5 ‘ 1 14.5
= - R 0.9 6.6 6.6 9
H J — — —
- - S 18.5 17 18 22
14 16 20 i
PG 16 18.5 20 23.5
PF 25 30.5 32 40
k) PE 23.5 29 30.5 38.5
PH Thread M4 MS M6 M6
PD 10 2 15 16.5
® PB 20 23 28 34
¢PC H8 8 10 12 12
K PA 10 12 14 16
Z 22 24 30 32
SPECIFICATIONS. . e — W e~ /a W —
Hyd. Port G1/8 G1/8 Gl1/4 G1/4
Lock cyl. areg cm2 8 10.5 16.5 23.3
F stroke. mm 14 7 18 21.5
Swing stroke. (90" rotation) mm 6 8 8 9.5
Locking stroke Y 8 9 10 12
At lock cmJ3 7 13.2 25.2 42.3
Cyl. volume - — - - —
At relegse. cmd 12.5 20.9 37. 68.7
Max. operating pressure. MPag 1.5
Min. opercting pressure. MPo 0.25
Design pressure. MPa 3.0
Opergating temp. C 0-70
Weight. Kg 1.3 | 18 | 27 4.2

MACHINING FOR MOUNTING CLAMP.

90° RH.

[
S

0312-0481

0312-0551

0312-0651

0312-0751]

90° LH.

Model

0312-0482

0312-0552

0312-0652

0312-0752

Te T = o
K 40 47 55 63
B M5 M6 Y M8
~ ~ 1 ~ ~r —_
C+0.2 48 55 65 75
R A = SN ~Na T
v = 20 T\ ou ()
= ~ r— - —
E 30 33.5 39.5 45
F 22 24 30 32
4 z
G 3 3 3 3

g?:?

Anticlockwise
rotation for
locking.

(Single Acting Cylinders available on request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION

Pneumatic

SWING CYLINDER (Bottom Mount)
(Double Acting)

.......

DESCRIPTION :

Double Acting Swing Clamp
90° Rotation (RH or LH)

RH: Clock wise rotation for clamping
LH: Counter-clockwise rotation for clamping

Chromium plated piston rod
Aluminium body
Flange Mounting

Min Operating Pressure : 0.25Mpa
Max Operating Pressure : 1.5Mpa

PRODUCT CODE-MODEL
. 0312—-0481.

— T Anticloc
rotatlon

/.

RH- Clockwise
. locking.

rotation for

%(Wlse

‘ 90° RH.]0312-0361|0312-0401]|0312-0481|0312-0551]0312-0651| 0312-0751
e e e e e e e o
= Model 90° LH.|0312-0362]|0312-0402|0312-0482|0312-0552|0312-0652| 0312-0752
S , \ B 95 111 122 37.5 145 171.5
=) 4Q 54 61 69 ] V.
3 = SR - ORI ﬂ 22
— ZE . C 40 45 52 60 70 80
— T D :l‘._l' 4 U 4 '— ‘-— D \
E 64.5 75 80 87 93 08
} :‘(“ ! = 0 v 50 I~ - 1
¥ I D JV JL o b Do !
2
1 o G 25 25 28 28 30 37
| H 79 37 . 39 6 52
@0 . - ~ —
= | —=—f= J 20 22.5 26 30 35 40
K 31.5 40 47 55 63
\Hydroullc - — - -
Pors, oL 66 73 83 88 06 116
w = s | IV, M 11 1 11 1] 12
| = 4 | N 23.9 26 30 DD 39.5 45
D 4 < 4 s rs 2
N R 0 7 ¢ [~ Q & 1 14 &
Q /.9 o] 9.9 1 4.0
gllgicr}]’l%d. I ) 4 = &£ > AR Q
B S 18 7 8.5 17 18 22
Release Port. H T 14 F 15 6 19 20
X U 10 12 | 4 16 20 2°
y 09 12 4 0 20 20
1 W 07 09 2 12 14
O [N - M10x1 M1: Miobx1. M16x M20x1.5 M
| Y (Hex,xDepth) S5x4 BxS 6x6 8x¢ 1 Ox8 10x8
by Z | B 18 2. 24 30 )
LN Hyd. Port] G1/8 G1/8 G1/8 G1/8 G1/4 G1/4
Lock port TAPER ANGLE ] 6 6 6 6 6 £
Lock cyl. area. cm2 3.0 37D 8 10.5 16.5 23.3
Full stroke. mm 13 13 14 7 18 2138
Swing stroke. (90' rotation) mm 5 6 8 8 9.5
ocking stroke mm 8 8 8 9 10
Bt Welirse At lock. cm3 2.6 3.07 7 13.2 25.2 42.3
AR ol 2.
4 At relecse. cm3 4.9 6.38 20.9 57.1 68.7
Max. operating pressure. MPa 1.5
Min. operating pressure. MPa
Design pressure. MPa 3.0
Operating temp. & 0-7
Weight. Kq. 1.3 1.8 27 | 42 | 55 | 9

(Single Acting Cylinders available on request. Please contact nearest Dealer)

MACHINING FOR MOUNTING CLAMP.

90° RH.|0312-0361

0312-0401

0312-0481

0312-0551

0312-0651

0312-0751

90° LH.|0312-0362

Model

0312-0402

0312-0482

0312-0552

0312-0652

0312-0752

K 40 47 55 63
B M3 M6 M6 M8
C+0.2 48 55 65 75
D 45 60 70
E 30 33.5 39.5 45
F 22 24 30 32
G 3 3 3 9

(Specifications subject to change)




DESIGNATION PRODUCT CODE

SWING CYLINDER (Bottom Mount) | 0312-P
Pneumatic (Double Acting)

DESCRIPTION : | \RH,&L%(',‘,‘{V pe
Double Acting Swing Clamp RH. locking.
90° Rotation (RH or LH) | \
RH: Clock wise rotation for clamping i
LH: Counter-clockwise rotation for clamping
Chromium plated piston rod (:) -
Aluminium body : /
Flange Mounting / 4
Min Operating Pressure : 0.25Mpa tH. /
Max Operating Pressure : 1.5Mpa l—— LH- Anticlockwise
ORDERING METHOD. | rotat_lon for
OOUCT CODE=MODEL locking.
PH threaoc . 0312-0481-P
oPB 90° RH.| 0312-0481]0312-0551}0312-0651| 0312-0751
= 7 ,’7 $PC_H8 90° LH.|0312-0482[0312-0552]0312-0652| 0312-0752
Ll owl @ - Model —
B a B A 122 137.5 145 171.5
g B 61 69 81 92
i C 52 60 70 80
o D 48 65 75
== E 80 87 93 108
O : 52 59 63 7
» o™ G 28 28 30 37
L H 49 46 52
I e J 2§ 30 35 40
L K 40 47 55 63
| 2| 83 88 106 116
L M 11 11 12 12
& }"‘I}Ey S N 30 33.5 39.5 45
=| e o TP 3 3 3
m4n. = ' Q 9.5 11 11 14.5
PR R 5.5 6.6 6.6 )
OZRing . . S 18.5 1 7 1v8 22
U 14 16 20 25
H J PG 16 18.5 20 235.5
PF 25 30.5 32 40
e N\ PE 23.5 29 30.5 38.5
De~Clamp f\;‘@/‘ PH Thread M4 M5 M6 M6
“}%/\ . PD T0 12 15 6.5
O x|~ H+ D) IF 2 PB 20 23 28 3
com =N EX T " {_ercC H8 8 70 T2 2
7 - PA 10 12 14 16
& Z 22 24 30 32
SPECIFICATIONS. Hyd. Port] G1/8 G1/8 G1/4 G1/4
Lock cyl. area. cm?2 8 10.5 16.5 23.3
Full stroke. mim 14 17 18 215
Swing stroke. (90° rotation) mm 6 8 8 9.5
Locking stroke mm 8 9 10 12
5 At lock. cm3 7 13.2 25.2 42.3
Cyl. volume. p— — e r—
At release. cm3 12:5 20.9 371 68.7
Max. operating pressure. MPa 129
Min. operating pressure. MPa 0.25
Design pressure. MPa 3.0
Operating temp. e 0-70
Weight. Kg. 13 | 18 § 27 | 4.2
MACHINING FOR MOUNTING CLAMP. 90° RH.|0312-0481[0312-0551]0312-0651] 0312-0751
0312-0482|0312-0552]0312-0652| 0312-0752
40 47 55 B3
M5 M6 MB M8
48 55 65 75
45 50 60 70
30 33.9 39.5 45
22 24 30 32
3 %) 3 3

(Single Acting Cylinders available on request. Please contact nearest Dealer) (Specifications subject to change)




LH,RH & Centre Port Configurations
Chromium Plated Piston Rod
Aluminium body
Integrated Hinge Mechanism

DESIGNATION PRODUCT CODE.
COMPACT LINK CLAMP CYLINDER | 0412
Pneumatic (Double Acting)
DESCRIPTION
Double Acting Flange Mounting

Min Operating Pressure : 0.25Mpa
Max Operating Pressure : 1.5Mpa
Light weight

C

Da120%1 412 040 0412048 0412-0551 12055 Ca12-0751
Model.| RH | oo oi20402 [osszoeaz 04120562 04120552 B4120752
LH 0412035 4120403 DA Z0483 0412-0553 H12-0555 Ca12-0753
A 79 875 101 1125 1295 153
B 50 54 61 59 a1 945
c 4 45 51 50 70 85
D 36 40 48 55 £5 75
55 E 55 56 62 87 755 86
" F 30 31 34 38 455 49
G 25 25 28 28 0 37
%, H 295 315 355 39 48 52
4 J 205 25 255 30 35 425
¥ - K 315 34 40 47 55 83
| L 68 73 83 88 106 116
s ‘; é M 1 11 11 11 12 12
Sk / N 235 ) 30 335 295 45
' P 3 3 3 3 3 3
o Q 75 85 85 11 11 14
<| |, R 45 55 55 658 68 g
& S 18 15 175 15 155 19.5
- T 27 05 35 375 45 55
u 10 12 14 16 18 2
W | oay v 22.5 25 20 3NS5 37 ‘5
TR ) S ] W 30 305 345 355 39 48
X 20 22 26 30 355 435
7 Y 10 12 13 16 19 25
¥ Z 19 71 2 28 a7 40
LH | gpotface 20 ZA 16 18 22 24 30 32
40 Hyd. Port. G 118" G 1/8* Gi/8 G1/8 Gl G1/d
A4S 1 AA 145 16 185 21 245 30
S ‘; AB 5 § § 8 10 1
4 . AC 5 5 5 6 8 10
O x|§ ZCa AD 6 3 B 8 10 12
2z | ) AE AE AE 92.4 1019 1114 130.8
&) Link AF 43 445 51 535 59 7
V Lever. | AG® 19.6° 20.2° 18.9 18.9 205 214
AH 5 B 43 47 43 45
RH AJ Al AJ 61.2 .7 78.7 90.8
BA 10 12 12 16 19 2
88 125 1 16 20 25 32
BC 18.5 215 235 29 32 75
SPECIFICATIONS. BD 5 5 6 8 10 1
Lock cyl. area. om? 49 7.0 96 125 19.6 282
Full stroke. - 185 20 235 26 295 35
Locking stroke. - 15.5 17 205 23 265 32
Extra stroke. mm 3 3 3 3 3 3
om? 76 12.0 19.7 289 52,0 80.25
O vohume. prar 52 100 165 2425 53 783
Max. cperating pressure. MPa 15
Min. operafing pressure. MPa 0.25
Design pressure. MPa 3
Operating temp. °C 0-70
Weight Kg. 0.72 1.15 25 42 65 10.2
MACHINING FOR CLAMP MOUNTING. A 314 % 55 63 75 BB
A ; B Mé M5 M6 M8 M10 M12
C+0.2 36 40 65 75 90 105
D 30 3 60 70 85 100
E 235 % 395 45 525 60
F 16 18 30 32 37 45
G 25 25 3 3 3 4

{Specifications subject to change)




PRODUCT CODE
ACCESSORIES 0311 /0312 /0412
CLAMP LEVER TABLE (Standard) FOR 0411
& 0401 | 008x 009x 010x 020x 030x 040x 050x 060x
, Model| 002 [ 036x 040x 048x 055x 065x 075x 090x 105x
= s i . 1 a 70 75 85 90 105 110 150 200
- b 10 12 12 16 19 22 25 32
: h c 13 14 16 20 25 32 38 45
%‘” d 5 6 6 8 10 11 13 16
A" L 2 e 13 145 16 17 22 2% 31 36
. 3 { 9 10 12 13 17 18 2 % 31
A i h 105 13 1. 17 22 2 3t 38
nl P i 3 3 3 4 5 5 6 6
n 45 55 B 6 8 10 11 13
PROD%E‘:EEL”;‘;E;“:: P 145 16 185 21 25 30 36 44
Eg. 0401-0101-SC r 45 5.5 6 6 8 10 1 13
s 25 25 35 6 75 95 13 16
v 5 6 6 6 8 10 12 15
u' 5 6 6 8 10 12 15 18
O Ay CLAMP LEVER TABLE (WITHOUT SLEEVE) FOR 0311 & 0312
0301-0101-WL
'EF"'_—d n_ threod 90° RH] 0081 0091 0101 0201 0301 0401 0501 0601
n Model 90° LH. 0082 0092 0102 0202 0302 0402 0502 0602
n 9 ode
a 50 56.5 65.5 77 91.5 105 127 152
& | b 26 28 35 38 50 58 75 90
\? \ c 1 13 16 2 22 28 34 40
'\ d 13 14 175 19 25 29 38 45
- g k k 3 3 3 55 55 55
[+ f — | 32 36.5 42 50 56.5 85 75 90
\ . - ] 10 12 12 17 19 22 27 32
X n M5 M6 M6 M8 M10 M12 M18 M20
— #p 15 18 22 25 30 36 45 55
PRODUCT CODE~MODEL CLAMP LEVER TABLE (WITH SLEEVE) FOR 0311 & 0312
0301-0101-SL
oFF o 90° RH,| 0081 0091 0101 0201 0301 0401 0501 0601
Q 0 Model 90° LH.| 0082 0092 0102 0202 0302 0402 0502 0602
FA 12 16 19 25 25 32 38 45
! FB 9.5 13 15 21 21 27 33 39
-f""" i FC 25 | 03 04 04 04 05 05 | 06
; i | | - FD 43 5.3 6.3 8.3 75 85 9.5 10.5
| | w 9FE 17 20 25 28 4 40 49 60
FF 139 18.7 20.8 23 28 32.9 4.8 51.2
oFE H8 9FG 3 4 4 4 (] 6 8 8

(Single Acting Cylinders available on request. Please contact nearest Dealer)

(Specifications subject to change)




DESIGNATION PRODUCT CODE

POWER PACKS b

DESCRIPTION :

Min operating pressure : 1Mpa

Max operating pressure : 20Mpa
Fabricated tank of various capacities
Electrical panel design can be customized
All elements are of std. design & Reputed
brand

Design: Gear Pump/Vane Pump/ Radial
Piston Pump

Mounting: Flange mounting

Nominal voltage: 220/400 V

Power system: 3-phase AC, 50 Hz

Qil level indicator

Pressure relief valve & Return Line Filter

Temperature control (Optional)

APPLICATION :

Tank capacities available in various sizes
from 10-100L

FACTOR OF SAFETY in PUMP-MOTOR ratio
is high preventing overload and burn out.
Can be used in assembly automation.

Manifold design is adapable to suit
1-5 valve banks for sequential
clamping.

Operating range from 5-200 bar
available.

Accumulator present in case of
power failure

Designed for optimal heat exchange to
prevent over heating of oil and elements

\

)
J

ator

—

@
Iter
e’ e
(@} & Breather

—

L/

Fa N

440

ol e

(Specifications subject to change)




DESIGNATION PRODUCT CODE

LASYS QUICK RELEASE COUPLER QRC
C HYDRAULIC OIL MEDIUM

ISO-A series — Steel - NPT

Quick Disconnect Couplings
Standard: ISO 7241-1 Series ‘A’
Interchangeable with:

Snap Tite 61, Parker 6600, Aeroquip 5600, Dixon K, Safeway S56,
Tomco A5600, Stucchi BIR, Faster ANV

Material: Steel
Seals: NBR

SAE ORB and BSP threads available on request
MAX PRESSURE RATING : 350 BAR / 35MPa

Body Port Max. Op. Pressure
Size Size Thread Coupled

1/4 1/4 NPT 5075 psi SMB-04-AF
3/8 3/8 NPT 4350 psi SMB-06-AF
1/2 1/2 NPT 4350 psi SMB-08-AF
374 3/4 NPT 3625 psi SMB-12-AF
1 1 NPT 3335 psi SMB-16-AF
Socket 1-1/4 11/4 NPT 3335 Psi SMB-20-AF
1-1/2 11/2 NPT 2900 Psi SMB-24-AF
2 2 NPT 1885 Psi SMB-32-AF

B O0 o z UD. Fre < - 3 DE
1/4 1/4 NPT 5075 psi SMB-04-AM
il B 3/8 3/8 NPT 4350 psi SMB-06-AM
_ 1/2 1/2 NPT 4350 psi SMB-08-AM
M 3/4 3/4 NPT 3625 psi SMB-12-AM
Plug 1 1 NPT 3335 psi SMB-16-AM
1-1/4 | 1 1/4 NPT 3335 Psi SMB-20-AM
<472 1912 NPT 2900 Psi SMB-24-AM
2 2 NPT 1885 Psi SMB-32-AM

PLEASE ASK FOR BSP OR OTHER TYPES OF THREADING WHILE PLACING ORDERS
STAINLESS STEEL AND BRASS MATERIAL ALSO AVAILABLE UPON REQUEST

ORDERING METHOD.

PRODUCT CODE—MODEL NO
[EQ. QRC-PT-04-04-A

(Specifications subject to change)




PRODUCT CODE

QRC

DESIGNATION
QUICK RELEASE COUPLER
HYDRAULIC OIL MEDIUM

LASYS

ISO-B series — Steel - NPT

Industrial Quick Disconnect Couplings
Standard: ISO 7241-1 Series 'B’

Interchangeable with:
Snap Tite 72, Parker 60, Aeroquip FD45, Dixon H, Safeway S10, Tomco
THK, Stucchi IRB, Hansen HK, Faster HNV

Material: Steel
Seals: NBR

SAE ORB and BSP threads available on request
MAX PRESSURE RATING : 250 BAR / 25MPa

Body Port
Size Size Thread

Max. Op. Pressure

Part Number

Coupled
1/8 1/8 NPT 5800 psi SMB-02-BF
1/4 1/4 NPT 5000 psi SMB-04-BF
3/8 3/8 NPT 4000 psi SMB-06-BF
1/2 1/2 NPT 4000 psi SMB-08-BF
3/4 3/4 NPT 3000 psi SMB-12-BF
1 1 NPT 3000 psi SMB-16-BF
Socket 1-1/2 11/4 NPT 1500 psi SMB-20-BF
1-1/2 11/2 NPT 1500 psi SMB-24-BF
2-1/2 2 NPT 1500 psi SMB-32-BF
2-1/2 2-1/2 NPT 1500 psi SMB-40-BF
2-1/2 3 NPT 1500 psi SMB-48-BF

Port Max. Op. Pressure | Part Number
Size Thread Coupled
1/8 1/8 NPT 5800 psi SMB-02-BM
1/4 1/4 NPT 5000 psi SMB-04-BM
e 3/8 3/8 NPT 4000 psi SMB-06-BM
| | 1/2 1/2 NPT 4000 psi SMB-08-BM
w 3/4 3/4 NPT 3000 psi SMB-12-BM
1 1 NPT 3000 psi SMB-16-BM
Plug 1172 | 11/4 | NPT 1500 psi SMB-20-BM
112 | 1112 NPT 1500 psi SMB-24-BM
2-1/2 2 NPT 1500 psi SMB-32-BM
212 | 2-1/2 NPT 1500 psi SMB-40-BM
2-1/2 3 NPT 1500 psi SMB-48-BM

PLEASE ASK FOR BSP OR OTHER TYPES OF THREADING WHILE PLACING ORDERS
STAINLESS STEEL AND BRASS MATERIAL ALSO AVAILABLE UPON REQUEST

ORDERING METHOD.

PRODUCT CODE~MODEL NO.
59. QRC-PT-04-04-B

(Specifications subject to change)




LASYS

DESIGNATION
QUICK RELEASE COUPLER
HYDRAULIC OIL MEDIUM

PRODUCT CODE

QRC

SMB-Series 16028 — Steel - NPT
Flush Face (Non Spill) Quick Disconnect Couplings, NPT threads

Standard: ISO 16028

Interchangeable with:

Snap Tite 74, Parker FEM, Aeroquip FD89, Dixon HT, Safeway FFE49, Tomco

FE/FF, Stucchi FIRG/ A,

Material: Steel
Seals: NBR

MAX PRESSURE RATING : 350 BAR / 35MPa

Faster 2FFI

Inch ISO (%] Size Thread Coupled

1/4 6.3 1.15 1/4 NPT 5075 psi FF-04-04F

] 1 3/8 10 1.26 3/8 NPT 4350 psi FF-06-06F

_ I 3/8 10 1.26 1/2 NPT 4350 psi FF-06-08F

|| " = h ih 1/2 12.5 1.50 1/2 NPT 3625 psi FF-08-08F
1/2 12.5 1.50 3/4 NPT 3625 psi FF-08-12F

Socket 5/8 16 1.65 3/4 NPT 3625 psi FF-10-12F

3/4 19 | 1.89 3/4 NPT 3625 psi FF-12-12F

3/4 19 1.89 1 NPT 3625 psi FF-12-16F

1 25 2.17 1 NPT 3045 psi FF-16-16F

Inch ISO 7] Size Thread Coupled

1/4 6.3 .63 1/4 NPT 5075 psi FF-04-04M
3/8 10 .78 3/8 NPT 4350 psi FF-06-06 M

M 38 | 10 | 78 172 NPT 4350 psi | FF-06-08M
' 1/2 12.5 .96 1/2 NPT 3625 psi FF-08-08M
~ ( 1/2 125 | .96 3/4 NPT 3625 psi FF-08-12M
5/8 16 1.06 3/4 NPT 3625 psi FF-10-12M
Plug 3/4 19 | 1.18 3/4 NPT 3625 psi FF-12-12M
3/4 19 1.18 1 NPT 3625 psi FE-12-16 M
1 25 1.42 1 NPT 3045 psi FF-16-16 M

PLEASE ASK FOR BSP OR OTHER TYPES OF THREADING WHILE PLACING ORDERS

STAINLESS STEEL AND BRASS MATERIAL ALSO AVAILABLE UPON REQUEST

ORDERING METHOD.

PRODUCT CODE-MODEL NO
Eg. QRC-PT-04-04-FF

(Specifications subject to change)




DESIGNATION PRODUCT CODE

LASYS QUICK RELEASE COUPLER QRC
HYDRAULIC OIL MEDIUM

A

HPA high pressure series — Steel
Screw Couplings, Ball Style

Standard: Enerpac interchange

Interchangeable with:
Snap-tite 76, Parker 3000, Faster PVV, Perfecting 300, Powerteam C39, Enerpac C-604

Material; Steel
Seals: NBR

MAX PRESSURE RATING : 700 BAR / 70MPa

SOCKETS
Description Body Port Max. Op. Pressure | Part Number
Size Size Thread Coupled
Socket 1/4 1/4 NPT 10,000 psi SMB-SC4F
Socket 3/8 3/8 NPT 10,000 psi SMB-SC-6F
PLUGS
Description Body Port Max. Op. Pressure | Part Number
} Size Size Thread Coupled
Plug 1/4 1/4 NPT 10,000 psi SMB-SC-4M
Plug 3/8 3/8 NPT 10,000 psi SMB-SC-6M

PLEASE ASK FOR BSP OR OTHER TYPES OF THREADING WHILE PLACING ORDERS

ORDERING METHOD.

PRODUCT CODE-MODEL NO
[EQ. QRC-PT-SC-04-04

(Specifications subject to change)







3D modelling and Design analysis before Prototyping
for reduced development cycle.

Specially designed and Made to order cylinders with
Specific strokes and sizes on customer request.

Extremely Compact design and space saving mount-
ings!

Hydraulic Testing of all clamping cylinders between
15t0120N/m2 to assess reliability and performance.

Use of high quality seals ensures long Operating life &
Leak Proof,Sustained operation.

Hydraulic units, capable of lifting, rotating, tilting
and moving of workpieces.

Pressing devices for riveting

A selective range of Work Supports with a range of
mountings to enhance the solutions that can be
offered to the customer.

Any type of linear motion or actuation is possible.

Spares & Accessories are standardised and easily
available

: B290a, 7th Main, 2nd stage,
.o - Peenya Industrial Area
b a7 Bangalore - 560058
) E-mail: hydcyl@clasys.in
URL : www.clasys.in
@:098806 68893




